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Resumo

Neste trabalho estudamos o problema de otimizagao de carteiras em mercados com volatili-
dade estocastica. O critério de otimizacao considerado consiste na maximizagao de utilidade
da riqueza final. O método mais usual para este tipo de problema passa pela resolucao de
uma equacao com derivadas parciais, deterministica nao-linear, denominada equagao Hamilton-
Jacobi-Bellman (HJB) ou equagao de programacao dinamica. Uma das maiores dificuldades
consiste em verificar que a solugao da equacao de HJB coincide com a fungao payoff do portfélio
otimo. Estes resultados sao conhecidos como teoremas de verificagdo. Neste sentido, seguimos
a abordagem de Kraft [13], generalizando os teoremas de verificagao para fungoes de utilidade
mais gerais. A contribuicao mais significativa deste trabalho consiste na resolucao do problema
de portfélio 6timo para o modelo de volatilidade estocastica 2-hypergeométrico considerando
power utilities. Mais concretamente obtemos uma férmula de Feynman-Kac para a solucao da
equacao de HJB. Com base nesta representacao estocdstica aplicamos o método Monte Carlo
para aproximar a solucao da equacao HJB, que no caso de ser suficientemente regular coincide
com a funcao payoff do portfélio étimo.

Palavras-chave: Carteiras 6timas, volatilidade estocéstica, teoremas de verificacao, modelo
2-hipergeomeétrico.
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Abstract

In this work we study the problem of portfolio optimization in markets with stochastic volatil-
ity. The optimization criteria considered consists in the maximization of the utility of terminal
wealth. The most usual method to solve this type of problem passes by the solution of an
equation with partial derivatives, deterministic and non-linear, named the Hamilton-Jacobi-
Bellman equation (HJB) or the dynamic programming equation. One of the biggest challenges
consists in verifying that the solution to the HJB equation coincides with the payoff of the op-
timal portfolio. These results are known as verification theorems. In this sense, we follow the
approach by Kraft [13], generalizing the verification theorems for more general utility functions.
The most significant contribution of this work consists in the resolution of the optimal port-
folio problem for the 2-hypergeometric stochastic volatility model considering power utilities.
Specifically we obtain a Feynman-Kac formula for the solution of the HJB equation. Based on
this stochastic representation we apply the Monte Carlo method to approximate the solution
to the HJB equation, which if it sufficiently regular it coincides with the payoff function of the
optimal portfolio.

Keywords: Optimal portfolios, stochastic volatility, verification theorems, 2-hypergeometric
model.
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Introduction

Ever since the seminal papers by Merton [16, 17], there has been a lot of research on continuous-
time portfolio optimization, in the context of stochastic analysis. Merton considers the portfolio
problem for the Black-Scholes model, and solves it in several contexts, for example, lifetime
consumption and maximizing utility from terminal wealth. In this thesis we focus on the
latter. It is well known that the Black-Scholes model does not describe accurately the reality
of financial markets. For instance, it doesn’t capture the volatility smile and skew feature of
implied volatilities (see for instance the book by Zhu [24]).

To solve these problems, one approach has been to allow the volatility of the stocks to be
stochastic, by the introduction of so called stochastic volatility models. Heston [8] proposes
a model of this type using the Cox—Ingersoll-Ross process and taking the volatility of the
stock to be the square root of this process. This model seems to be the most widely used
today among the stochastic volatility models, especially for option pricing. For a model of this
type, Liu, in [15], proposes a solution to the continuous-time portfolio optimization problem
for power utilities, by solving the dynamic programming equations. However, a solution to
these equations may not correspond to the payoff function of the optimal portfolio; in addition
one needs to prove a verification theorem (see Kraft [13]). Following the approach by Kraft
[13], we generalize his result of verification for general stochastic volatility models and general
utilities.

Concerning the Heston model, if the so called Feller condition is not satisfied, the CIR
process can reach zero in finite time, and in statistical estimation of the parameters we don’t
always have this condition. To overcome these issues, in the recent paper [4], the authors
develop a new model, the a-Hypergeometric Stochastic Volatility Model. This model always
has a positive distribution for the volatility, and at the same time remains tractable. The
pricing of derivatives under this model has been object of recent research (see [20, 21]). One of
our main goals is to analyse the portfolio problem for this model. More precisely we obtain a
Feynman-Kac formula for the solution of the Hamilton-Jacobi-Bellman equation (HJB), which
is the natural candidate to be the payoff of the optimal portfolio. Taking into account this
stochastic representation we develop and implement a Monte Carlo type of numerical scheme
for the solution of the HJB equation.

This work is organized as follows. In section 1, we review some results of stochastic analysis
that we need throughout the thesis.

In section 2, we introduce our formulation using the Merton problem, i.e., the portfolio
problem in the Black-Scholes framework. The purpose of this section is to give a general idea
and a motivation to the general approach that we propose for stochastic volatility models.

In section 3, we formulate the general stochastic volatility portfolio problem. Using the con-
dition of uniform integrability (like in Kraft [13]), we prove the verification theorem for general
utilities. We also discuss the problem for power utilities, in which the dynamic programming
equations can reduced to a linear differential equation, as proposed in [23].

In section 4, we solve the problem for a family of models that include the Heston model
proposed by Liu [15]. For this family of models, the dynamic programming equations can be
solved explicitly, and the conditions of the verification theorem can be proved, ensuring the
optimality of the solution. This section follows closely the paper of Kraft [13].

In section 5, we propose a general method to solving the problem using the Feynman-Kac
formula, from a theoretical and numerical point of view. First, we simplify the equation such
that the corresponding partial differential operator coincides with the infinitesimal generator
of the stochastic volatility model. Then we write the Feynman-Kac formula using the process
with this infinitesimal generator. Such process is appropriate to show that the Feynman-Kac
representation is finite valued for any given initial condition. Otherwise, in some cases, if we
consider the original partial differential equation, the associated stochastic process is hard to



deal with. In addition it is difficult to show that the Feynman-Kac representation is finite
valued. This strategy can be applied successfully to the 2-hypergeometric model. Finally, still
based on the deduced representation, we develop and implement a Monte Carlo type of method
to obtain a numerical approximation.



1 Elements of Stochastic Analysis and Monte Carlo methods

1.1 Introductory concepts

Throughout this work we shall fix a constant 7" > 0. In this section, we remind various results
of stochastic analysis which will be needed later. We start with various definitions.

Definition 1.1.1. Let (2, F,P) be a probability space. A filtration on (2, F,P) is a family,
F = (Ft)ejo,r); of o-algebras such that Fs € Fy C F, for any 0 < s <t <T. We say that a
filtration is right continuous if

ft:mfsa

s>t

for any t € [0,T).
A probability space, (Q, F,P), is complete if the set N = {A € F|P(A) = 0} satisfies

VAeN,VBCQ, BCA = BeF.

A filtered probability space satisfying the usual conditions, is an ordered vector, (Q, F,F,P),
such that (2, F,IP) is a probability space, F = (F¢)ejo,r s a filtration on (Q, F,P), and

1. (2, F,P) is a complete probability space;
2. Fo contains all null measure sets of F, i.e., N C Fo;
3. The filtration F = (F¢),c(0,1) 18 right continuous.

For 0 < a <b<T, a stochastic process in [a,b], is a mapping from [a,b] x Q into R, such
that, it’s measurable in the product o-algebra, B([a,b]) x F. We say that a stochastic process in
[a,b], X(s,w), is Fi-adapted if the random variable X (s,-) is Fs-measurable, for any s € [a,b].

Definition 1.1.2. Take a filtered probability space satisfying the usual conditions (Q, F,F,P).
A F; Brownian motion is a stochastic process, (Wt)te[O,T]; such that

1. Wy is Fy-adapted;

2. For any 0 < s <t <T, the random variable Wy — Wy, is independent of Fs;

o

Wy = 0 almost surely;

:R

Forany0<s<t<T, Wy —Wg~ N(0,t—s);

R

Forany 0 <ty <ty <---<t, <T, the random variables
Wt17 WtQ - Wt17 sy th - th—l’
are independent.

6. The process Wy is pathwise continuous, i.e., there is A € F with P(A) = 1 such that
W(-,w) is continuous for all w € A.

Definition 1.1.3. For a probability space, (2, F,P), n stochastic processes, fi(t), fa(t), ..., fu(t),
are said to be independent if for any 0 <t < to < -+ <ty < T, the m-valued random variables

(fi(t1), fi(t2), - o fr(tm)s - (fu(t1), fu(te),- .-, fu(tm)) are independent.
Given a filtered probability space satisfying the usual conditions (2, F,F,P), we call a q-

dimensional Brownian motion, to a mapping from [0,T] x Q to RY, W, = (WL, ..., W}!), such
that

1. Each mapping W} is an F; Brownian motion;



2. The stochastic processes, W}, ..., W, are independent.

A q-dimensional reference space is an ordered vector (2, F,F, P, W) such that (2, F,F,P) is
a filtered probability space satisfying the usual conditions and W is a q-dimensional Brownian
motion.

Given these definitions one can develop the concept of the stochastic integral. We give a
brief review of this concept in the following observation. The full development can be found in
[14].

Observation 1.1.4. Given a filtered probability space satiffeynmasfying the usual conditions
(Q, F,F,P) we may take the following spaces of stochastic processes:

1. L?,(Ja,b] x Q) the space of stochastic processes, f(t,w), such that
(a) f(t,w) is F; adapted;
(b) E [2|f(s)|>ds < oo,

2. Lqq(Q, L?[a,b]) the space of stochastic processes, f(t,w), such that
(a) f(t,w) is F; adapted;
(b) [71f(s)|*ds < oo, P-a.s.

We note that L2 ;([a,b] x Q) C L4q(, L%[a,b]). We know that for a F; Brownian motion, Wi,

and stochastic process, f € Lqq(Q, L?[a,b]), the stochastic integral fab f(s,w) dWy is well defined
as an element of L°(Q). In the particular case that f € L2 ([a,b] x Q), the stochastic integral

fabf(s,w) dWy is an element of L*(Q).
We also know that we can take representatives of fj f(s)dWs, a <t <b, i.e., take elements
of the a.s. equivalence classes of f(f f(s) dWs, such that the mapping

t
(t,w) / £(s) dW,
0
is a continuous stochastic process (a continuous stochastic process is one that satisfies condition
6 of Definition 1.1.2).

We present now the theorem for It6’s formula. First let’s define what we mean by an Ito
process.

Definition 1.1.5. Consider a q-dimensional reference space (2, F,F,P,W). A stochastic pro-
cess, Xy, defined on [a,b] is an Ito process if

1. Xy is Fi-adapted and continuous;

2. There exist stochastic processes f(t,w),o1(t,w),...,04(t,w), such that

(a) f(t,w) is Fy-adapted and ff |f(t,w)|ds < o0, P-a.s.;
(b) Ui(tvw) € £ad(QaL2[av b])y 1<:< q;
(c) the equality

q
Xt:Xa+/tf(s,w)ds+Z/tai(s,w)dWsi (1)
a i—1Ja

holds a.s., for any t € [a,b].

We present [t0’s formula now, which we generalize for stopping times.



Theorem 1.1.6. Take an ité process, X, with corresponding stochastic processes f(t,w),
o1(t,w),...,04(t,w) as in the previous definition. Then for any function F : [a,b] x R — R,

such that it’s partial derivatives %, %—5, ‘?)Tg, exist and are continuous, and for any stopping

time, 0, with values in [a,b], the equality

b b
F@X@zF@X@+/umwﬁfﬁxgw+/nm<@ﬂsxv< ) ds

—i—Z/ a6 (s (5, Xs)oi(s,w) dW? (2)

2
+2;/C; 1[@,9](5)W(8,X3)0i(3,w) ds

holds P-a.s.
We can also generalize this theorem for n dimensions.

Theorem 1.1.7. Take It6 processes, X|, with corresponding stochastic processes f;(t,w),

oin(t,w),...,0i4(t,w), as in the previous definition (1 < i < n). Then for any function
F :a,b] xR™ — R such that it’s partial derivatives %f, gﬂi, aaxf; ,fori g =1,...,n, exist and

are continuous, and for any stopping time, 0, with values in [a, b] the equalzty

fm&ﬁm<a>/nmw;sxw+2/nw (5 X fi(ssw) ds
q b
—I—ZZ/ g, (s sX)a,](s w) dW? (3)
i=1j=1"4%
1 n n
+2Z

=1 j=1k=1

/ a6 (s Bx (s Xs)oik(s,w)ojk(s,w)ds

holds P-a.s. (we’re denoting Xy = (X},...,XJ) ).

The proof of these generalized theorems can be done using the usual It6’s formula and a
property of stochastic integrals with stopping times (see Friedman [6]).

1.2 Stochastic Differential Equations

Take for now a 1-dimensional reference space (2, F,F,P,W). A 1-dimensional stochastic dif-
ferential equation on the interval [a,b], 0 < a < b < T, and domain D C R (we always take
D =R or D =R") is a differential of the form

dXt = ,U,(t, Xt, OJ) dt + O'(t, Xt,(,U) th, Xa = 5 (4)

where p: [a,b] x D xQ — R and o : [a,b] x D x Q — R are given mappings, and & is a certain
Fq-measurable random variable. In a way this differential has no exact mathematical form,
it’s simply something we refer to for ease of communication. Let’s define now precisely what
we mean by a solution of this equation.

Definition 1.2.1. Fix an interval [a,b], domain D C R, mappings p,o : [a,b] x D x Q@ - R
and a Fq-measurable random variable §. A solution of the stochastic differential equation (4),
is a stochastic process, Xy, defined on |a,b], such that

1. Xy takes values in D, is Fi-adapted, and is continuous;



2. u(t, Xy,w) is an Fi-adapted process such that fab |u(s, Xs,w)|ds < oo for P-a.s.;
3. o(t, Xy, w) € Lag(Q, L?[a, b)), so the stochastic integral is well defined;
4. The equality
Xt:{—i—/t,u(s,Xs,w)ds—i—/ta(s,Xs,w)dWS (5)
holds a.s., for any t € [a,].

This last equality means that for each fixed t € [a,b], for any version of the stochastic
integral, there is as set A € F with P(A) = 1, such that for all w € A, f[f lp(s, Xs,w)|ds < o0,
so this integral is well defined and the equality (5) holds (for the fixed ¢ and w).

Definition 1.2.2. We say that the solution to the stochastic differential equation (4) is unique
if for any two solutions, Xy, Yy, as in definition 1.2.1, satisfy

X(t,w)=Y(t,w), forallté€ [a,b],
i a set of probability one.

We note that this is stronger then X; = Y; a.s. for all ¢ € [a,b], i.e. the statement in the
definition says there is a set of probability one such that the paths of the stochastic processes
coincide. Still because the processes are continuous by definition, if X; = Y; a.s. for all ¢ € [a, ]
one will still get the stronger property of pathwise uniqueness. As such, in our case the two
views are equivalent.

We present the usual theorem of existence and uniqueness of solution with Lipschitz coef-
ficients, where the functions ¢ and o do not depend on w

Theorem 1.2.3. Fiz an interval [a,b] and take measurable functions u,o : [a,b] X R — R such
that for some K > 0

|/L(t,$)—u(t,y)‘ SK‘Z’—y’, |O'(t,l')—0'(t,y)| §K|$—y|, Vit e [a,b],:n,yGR, (6)
and for some C >0
ut,z)| < C(L+|z|) o, z)| <C(L+]z]), Vtelab], zeR. (7)

Suppose & is a F, measurable random variable such that E(|¢[?) < co. Then the stochastic
differential equation (4) as an unique solution.
Also a solution to this equation, Xy, satisfies the following estimate

E ( sup !Xt!2> < CE(l¢]), (8)
a<t<b
for some C > 0.

We also have the following Proposition for proving the uniqueness of a solution.

Proposition 1.2.4. Fiz an interval [a,b] and domain D C R such that D =R or D = R*.
Take a Fq-measurable random variable, £, and functions p, o : [a,b] x D — R such that for any
compact set K C D there exists Cx > 0 satisfying

’M(t,x)—/ﬁ(@y)\ SCK‘x_y‘7 ’U(t,l‘)—d(t,y)’ SCK’.’E—y’, Vie [CL?b]:x?yeK' (9)

If X is a solution of (4), for these mappings, then this solution is unique.



This Proposition can be applied in many cases, since functions of C'! type are always locally
Lipschitz. The proof of these results can be found in [9]. We now present a theorem for the
solution of linear stochastic differential equations.

Theorem 1.2.5. Consider an interval [a,b] and £ a Fy-measurable random variable. Take two
Fi-adapted stochastic processes u(t,w),o(t,w), defined on [a,b], such that

b
/ \u(t,w)|ds < 0o, P—a.s. and o(t,w) € Lag(, L*[a,b]).

Then the linear stochastic differential equation
dX; = pt) Xy dt + o(t) X dWs, Xo =&, (10)

has an unique solution given by

thfexp{/atu(s)ds—;/ato(s)st—F/ata(s)dWs}.

See [9] for the proof. Finally, we present a theorem that will be useful later. The proof can
be found in [11].

Theorem 1.2.6. (Doob’s submartingale inequality) Let X; be mon-negative continuous sub-
martingale in [a,b], 0 < a<b<T, and lett € [a,b]. Then for every K >0

E|X
B sup x> K | < B (11)
s€la,t] K

and for every p > 1
P
E( sup [X,| < <p> E | X,P. (12)
s€la,t] p—1

1.3 Feynman-Kac formula

Here we give the theorem for the Feynman-Kac formula. We generalize the conditions that are
usually found in the literature.

Theorem 1.3.1. (Feynman-Kac formula) Fiz continuous functions,
w,o, Vo f:[0,T] x R — R.

Consider now a function u € CH2([0,T] x R) satisfying

2

ou ou 1, 0“u
E(tﬁv) + M(tam)%(ta JJ) + 50 (th)@

on [0,T] x R, with final condition u(T,x) = ug(x) on R, for some ug € C*(R).
Fiz (t,z) € [0,T] x R and suppose that the stochastic differential equation (in D =R)

(t,x) + V(t,z)u(t,z) + f(t,x) =0, (13)

dXs = p(s,Xs)ds+ o(s, Xs) dWs, Xy =u,

has a solution X. If for any sequence, (0,)nen, of stopping times in [t,T] the collection

On a
{“wn, X, el VX dr / F(7, Xp)ell VO ax dT} (14)
t neN

is uniformly integrable, we have

T
u(t’ x) — E |:u0<XT)eftT V(T,XT)dT +/ f(S,XS)e‘[; V(T,Xq—)dT d8:| ) (15)
t

7



V(r,X7)dr

Proof. We start by noting that we can see the process elt as an [to6 process since

efts V(r,X7)dr -1 + /S V(T, XT)eftT V(AXy)dA dT,
t

holds a.s. - P, (on the set such that X is continuous). Consider a stopping time, 6, with values
in [t,T]. Using It6’s formula on u(6, Xg)eft9 V(s:Xs)ds we obtain

0 T au s
u(B, Xg)ele VXA — (it ) + / .0)(s )875 (5, X, )el VXD g
t0] SX) (s, Xs)e [V Xs)dr go

32“ 2,00V

1[ 6)(s )a 5 (5, Xs)o (s, Xs) (rnXo)dr gs (16)

te] )V(S,Xs)efts V(T7X7—)d‘r ds

+

?‘_\J\M\H\

1[1&,9]( )g (s, X5)o(s, Xy)eh VX dr gy
Due to equation (13) we can simplify this equality to

T
(9 X@)eft (5,Xs)ds u(t,:c) _/ 1[t79](3)f($,Xs)€ft V(r,Xr)dr ds
t 17)
T ou s (
+/ 1[t,9](s)%(87XS)O'(S7XS)€ft V(T7XT)dT dWS
t

Consider now the stopping times

00 () = { 1nf{s€ [t,T] ’ ft 3u (1, X;)o (T,XT)ef{V()\,XA)d/\|2d7-Zn}, if {se[t,T]|---}#0
b if st T]| -} =

where the set, {s € [t,T]| -- -}, is the same one we are taking the inf over. Under these stopping
times the stochastic integral in (17) has expectation 0. Therefore we may take the expectation
n (17), using these stopping times, and obtain

|: (en,XG ) f V(s,Xs) ds / f s X [S VX, )deS :u(t,l‘). (18)

Now note that
lim 0, =T, a.s. —P,

n—oo

and by hypothesis the random variables in the above expectation (18) are uniformly integrable.
Therefore we have

E|: (T XT) V(s,Xs) ds / f s, X TX,—)deS:|
n S 1
— lim E [u(en,X9n>6ft V(s,Xs)ds +/ f(37X5>€ft V(r,X7)dr ds] ( 9)
n—00 :
= u(t,x).
O



To prove the verification theorems, we need to prove conditions about uniform integrability,
much like in the previous theorem. To help prove these conditions, we present the following
theorems on uniform integrability and local martingales, which we need later.

Theorem 1.3.2. Let X be an adapted stochastic process in [t,T] and let (0,)nen be a sequence
of stopping times in [t,T). Then if either

1. E

sup [ Xa]| < oo
s€[t,T]

2. ]E‘Xgn’q <, for some C >0, g > 1,

we have that the sequence (Xp, )nen is uniformly integrable.

Theorem 1.3.3. Let X be an adapted stochastic process in [t,T).
If X is a non-negative local martingale and E|X;| < oo then X, is a supermartingale.
If X is a supermartingale, then for any stopping time, 0, in [t, T

E[Xy] < E[Xy].

The last statement is a special case of the optional sampling theorem. See [11] for these
results.

1.4 Monte Carlo methods

Let X be a real valued random variable and f : R — R some function. Suppose that f(X)
is integrable, and that we want to approximate its expected value. By the strong law of
large numbers, if we have a sequence of independent random variables X1, Xs,... all with the
distribution of X, then

N—oo

LY
lim N;f(Xi) —Ef(X), P—a.s.

See [11] for the proof. The Monte Carlo method is based around this result. To approximate
Ef(X) we simulate N independent random variables, X1, Xo, ..., Xy, all with the distribution
of X, and calculate + Zf\il F(X5).

Since this is a stochastic method, we shall measure the error using the standard deviation.
For this note

1 & C > 2
E (N > F(Xi) - Ef(X)> =3 E (Z (#0x) -~ Ef(x >)>
= = (20)
_ L fj SE (70 —B£)) (£(x5) ~EF(0)) ]

In the case that ¢ # j, X; is independent of X, therefore

E|(£(x0) ~Ef(X)) (£(X;) ~Ef(X) ) | = Ef(X:) - EF(X)|E[f(X;) — Ef(X)] = 0.

Continuing the above equality, we have then

N 2 N
E (}V > 1% - Ef(X)> = 37 LBUK) ~BJOO = pvar(f(x). (D)

9



where Var(f(X)) =E (f(X) — Ef(X))?. The standard deviation is therefore

1 Y L
E (N;f(Xi)_Ef(X)> :ﬁvVar(f(X))-

It follows that this method approximation is of order Tlﬁ’ assuming that Var(f(X)) is finite.

We synthesize this in the following theorem.

Theorem 1.4.1. Let X, X1, Xa,... be identically distributed and independent random vari-
ables, and suppose that E(X?) < co. Then

N

lim — Y (X)) =Ef(X), P-as.

i=1

and

VN

The random variables we have to simulate for the Monte Carlo method may sometimes
be solutions of stochastic differential equations. In many cases, we don’t know the explicit
solution to the stochastic differential equation, so we can’t simulate these random variables
directly, using methods based on their distribution (see for instance [7]).

Take (Q, F,F,P,W) a l-dimensional reference space. Let p,o : R — R be functions, and
suppose that the stochastic differential equation

2
E (}V > rx) - Ef(X)> = = Var(7(¥)).

dXs = u(Xs)ds +o(Xs)dW,, X ==z

has a solution, X, on [t,T], for starting conditions (¢,x) € [0,7] x R. Consider now a dis-
cretization of time t =ty < t1 < --- < tpy =T, such that t; —¢t;_1 = h, foralli =1,..., M,
where h > 0 is some constant. The Euler method (or Euler-Maruyama method) approximates
the simulation of X in the points tg, t1,...,ty by the following recursive approach

Xo=az3 ) (22)
Xit1 = p(Xi)h + o(Xi)VhNi

where N;, i = 1,....M are independent random variables with normal distribution, mean 0
and variance 1, we need to simulate (see [7]).

For f : R — R in some class of functions C (see [7]), the so called weak error for this method
is given by

sup [EF(%) — Ef(Xe)
i=0,1,....M

Under some conditions on the coefficients p and o, this error can be proven to converge to 0
with a order of 1, i.e., for all f € C

sup y ‘Ef(f(l) —-Ef(Xy,)| < C%a

i=0,1,...,

for some C' > 0 (see [7] and references therein).
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2 Merton Problem

2.1 Formulation of the Problem

The Merton Problem is the control problem for the Black Scholes Model. The Black Scholes
model is given by the dynamics

dBy = rB;dt By =1
{ t r t Y 0 Y (23)

dS; = ,uSt dt + oSy dWy, Sy = sp.

where 7, 1 are non-negative constants with u > r and o, sg are positive. This system has the

solution
Bt = ert
{ St = 806(“7%02)t+UWt7 (24)

where we are considering a 1-dimensional reference space (2, F,F,P, W).

We want to manage portfolios on this model. By a portfolio we mean a pair of adapted
stochastic processes ag, by such that a; represents the quantity the holder has of the asset B
at time t and by represents the quantity of the asset S; the holder has at time . We can then
define the value of the portfolio at time ¢ to be

Xt = (ItBt + tht- (25)

We want to consider portfolios that are self-financed, i.e., portfolios where money is not injected
or taken out. We formalize this condition by supposing that the wealth process X; satisfies the
dynamics

dX; = adBy + by dS;. (26)

Developing this equality we obtain
dXt = atdBt + btdSt = (CLt’I“Bt + bt,uSt) dt + th'St th (27)

We also only consider portfolios such that X; > 0 for all (¢,w) € [0,T] x Q. Since in the
Black-Scholes model, prices are always positive this is not too restrictive.

So as to simplify the equation we take ¢; to denote the fraction of the wealth invested in
the stock S, i.e.

Stbt atBt
Pt X, and by (25), Pt X,
So we have simply
dXt = (’I"(l — Sot)Xt + ,ugotXt) dt + O'gOtXt th, (28)

which doesn’t depend on S, so we can simply look to this equation to formulate the control
problem.

Definition 2.1.1. We define the set of admissible controls, A(t), defined on t € [0,T], to be
the set of adapted stochastic processes, p, with domain [t,T] x §, such that

T
/t lps|? ds < 00, a.s. (29)

We note that for a fixed ¢s € A(t), the stochastic differential equation (28) has an unique
solution for any starting position X; = = > 0 ( using theorem 1.2.5 ). Given ¢ € [0,T],
z € Rt and ¢, € A(t), we denote a corresponding solution to equation (28) by X&™¥. Also
note that, since the equation is a linear equation, for starting time x > 0 we always get
X0 > 0,Vs € [t,T], a.s.

We are now ready to formulate our control problem. For this we need the concept of an
utility function.
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Definition 2.1.2. An utility function is a function U € C*(R*") such that
U(x) >0, U'(x)>0, and U’(x) <0, forallzecRT

The condition U(z) > 0 is equivalent to supposing U is lower bounded, this is because the
control problem is equivalent for utilities such that its difference is constant. The condition
U'(xz) > 0 is so the function is increasing, so that the agent prefers more wealth then less, and
the condition U”(x) < 0 is so the agent is risk averse.

The objective is now to find the best control with the maximum payoff E [U (X7 )] , for each
starting condition. Let’s define what we mean by the payoff associated to a control.

Definition 2.1.3. Consider the set

D:{(t,x,ap)‘te[O,T], z € RY, goeA(t)}. (30)

For each (t,x,¢) € D we fix a corresponding solution X0 of equation (28). We define the
payoff function, P : D — RU{oc}, for the utility function, U, as being

P(t,z,0) =E [U(X;W)} : (31)

By pathwise uniqueness, E [U(X%m’@)] is the same for any solution of equation (28) we fix,

so P(t,z,p) doesn’t depend on the considered solution to the stochastic equation. Now we
define the notion of value function.

Definition 2.1.4. Let P be the payoff function for a certain utility function U. The value
function V : [0,T] x RT — RU {400}, is defined by

V(t,z) = sup P(t,z,¢). (32)
PEA(L)

We shall also denote the value function V', by the lower case v.

2.2 Verification theorem

Our objective is to find a control processes, ¢** € A(t), for each (¢,z) € [0,7] x R*, such that
P(t,z, %) = V(t, ).

One approach is to solve a deterministic differential equation, called the dynamic prog-
graming equations, or also the Hamilton-Jacobi-Bellmann equations (HJB). Finding a solution
to these equations is not always easy, and in some cases the equation might not have a smooth
solution, so one has to use weaker notions of solutions to differential equations, like viscosity
solutions (we refer to [3, 22] for these concepts). What we shall do now is prove what is called
a Verification theorem. What this theorem gives us, is a guarantee that in the case that we
find a smooth solution to the HJB equations, and one has an additional uniform integrability
condition, then one knows that that solution is the value function.

We start with a Lemma.

Lemma 2.2.1. Let U € C*(RT) be an utility function and let w € CY2([0,T] x RY) be a
non-negative function satisfying
1. for fived (t,z) € [0,T] x R", the mapping,

82

a— a—w(t, z)x(r+alp—r))+ E t,xr)x’o%a’

02 5 922

is bounded above for a € R;
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ow Ow 1 0%w
2. _E(um)_ilelg %(t,x)x(r+a(u—r))+5@(757:13)

3. w(T,z) >U(z), VzxeR".

20%a?| >0, on [0,T] x RF;

Then w > v on [0,T] x RT.

Proof. Let (t,z,¢) € D, and take a corresponding solution X% Since w € C12([0,T] x RT)
we may apply itd’s formula on w(H,Xé’x’Lp) for any stopping time 6 € [t,T]. Doing this we

obtain
Ow O (o, XL X2 (1 1 gy — 1)) ds

T
t,.’,E, _ s Ly
w(0, X,;"7) = w(t, ) +/t L01(s) [375 (5, Xb"P) + o

1 (T O%w 2
/t 101(5) 22 (5, X029) (X029)2 6252 dig

* 2 Ox?
T
0
+ [ 1) G 6, X)X g,
t €T
(33)

a.s.-PP. We define the stopping time, 6,,, for n € N, and valued in [¢,T], b

) = { inf {s e [t, 7] ‘ 2122 (u, X559 X555, |2 du > n} , if lset,T]]--) #0;
T, if{set,T]|---} =10,

where {s € [t,T]|---} refers to the same set we’re taking the inf over.
For this stopping time the last term in (33) has expectation 0. On the other hand we have

ow ow
—— (5, X0"9) + —— (5, X0"P) XD (r + @5 (u — 7)) ds

ot ox
4 L0 xtme) (xtme)? o2
< %Qf(s, Xg™8) + sup {(ZZ(S’ XEr) X2 (r + a(p— 1)) ds (34)
+ ;?;;(s, Xboe) (Xboe)? 02a2}
<0,

by condition 2.
Given all these observations, taking the expectation in (33) and using inequality (34), we

have
(35)

E |w(fn, Xg"%)| < w(t, ).

Now, noting that lim,,_, 0,(w) =T, a.s.-P, and as a result

lim w(0,, X5"%) = w(T, X5"%),

n—oo

a.s.-IP, we can use Fatou’s Lemma to obtain

P(t,z,0) =E [U(X;W)] <E [w(T, X;W)] < liminfE [w(an,X;;W) <w(t,z).  (36)

We note that we can indeed use Fatou’s Lemma because w is a non-negative function. Finally,
by taking the sup over ¢ € A(t) in the last inequality, we obtain
v(t,z) < w(t,x).

13



We note that if we find w in the above conditions we also prove that the value function is
always finite. We present now the Verification theorem.

Theorem 2.2.2. (Verification theorem) Let U be an utility function and let w € C*2([0,T] x
R™) be a non-negative function satisfying

1. for fived (t,z) € [0,T] x R*, the mapping,

a — [aw(t,m)x(r—i—a(u—r)) + 5@(15,1‘):5 oa

Ox

is bounded above for a € R;

2
2 =2t 2) —sup | 22 (@)@ (r+ aliu— 1)) + 5 o (b, )a’o%a?| =0, on [0,7] x R*;
ot wcR | O x

3. w(T,z) =U(z), VreRT.
Let a: [0,T] x RT — R be a function such that
82

ow _ 107w 2 2 2 +
a(t,z) € ar%Errﬂlan{ e (t,x)x(r+alp—r))+ 5 902 (t,z)xc”a }, on [0,T] x R™ (37)

such a function always exists by condition 1). If for (t,x) € [0,T] x RT the equation
(- y y
d)A(z’m = Xﬁ’m(r + a(s, X?m)(,u —7r))ds+ Xé’xo'oz(s, X;ﬁ,m) dWs, )A(Z’x =1, (38)

has a solution, X", with a(s, Xﬁx) € A(t) and if for any sequence, (T, )nen, of stopping times
in [t,T] the collection
{w(Tn, Xﬁf)} (39)

neN ’
1s uniformly integrable, we have

w(t,z) = P(t,z,a(s, Xt%)) = v(t, z).

Proof. By the last Lemma it’s immediate that w > v on [0, T] xR*. Fix now (¢,z) € [0, T]xR™*.
If we denote ¢* = a(s, X&”) it should be immediate that Xi* = X5™¢" for all s € [t, T, P-a.s.
This is true since they both satisfy equation (28) for the control ¢f.

We take the same stopping times, 0,, as in last Lemma and in an analogous argumentation,
we may take Itd’s formula on the process w(6y, X;’nx’@*) to obtain

E [u(6,. X377 )] = wit.o).

where this time we have equality, by the stronger conditions on the function w, and the fact
that a(t, z) satisfies condition (37). Now since

lim 6, =T, a.s.—P,

n—oo

and {w(&n, X gz)} o is uniformly integrable by hypothesis, we have
n

o(t,z) > E [U(X;W*)} —E [w(T, X;xv%”*)} = lim E [w(an,X;;fW*) = w(t,z).  (40)

n—oo
Since w > v on [0,T] x RT we have then
w(t,x) = v(t,x)

~

and since also w(t,z) = E [U(X?x’@*)] , as, X™) is an optimal control. O
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We remind that to prove that for any sequence of stopping times, (7,)nen, the collection

{w(m. %0}

neN ’

is uniformly integrable we can simply prove

E
s€(t,T]

sup \w(s,Xﬁx)\] <oo, or E [w(Tn,Xif)q} <C,

for some ¢ > 1 and C' > 0, which should be easier.

2.3 Power utility functions

In this section we investigate a special type of utility functions.

Definition 2.3.1. An wutility function, U, is said to be of power utility type if there exists
v €10, 1[ such that
pad
U(x) = —
Y
There’s meaning for this type of utilities and we refer to Pham [18] for a discussion (they
have what is called constant relative risk aversion ).
These utilities are interesting because the HJB equation, in the Merton problem, admits a
smooth solution, and this solution can be proved to be optimal using the verification theorem.
The HJB equation is given by

2
_%ltu(t?x) B ig% %(t,x) z(r+a(p—r))+ ;g;g(t,m)w2a2a2 =0, on [0,T] x RY,

w(T,z) =z /7.
(41)
Suppose now that this equation has a smooth solution, w, which admits a decomposition of
the form w(t, x) = h(t)%, with h(t) > 0 for all ¢ € [t,T]. Substituting in the equation we get

2
—aai:(t,x)‘rry - Slelg h(t)x” (r+a(p—r)) + %h(t)x'y(’y —1)o%a?| =0, on [0,T] x RT,
h(T) = 1.

(42)

Now the supremum is taken over a second order polynomial, so it achieves its maximum if

its highest order coefficient is negative. We can see this is the case since h(t) > 0 and v €]0, 1].
Taking the derivative we can find that this polynomial achieves it’s maximum in

* w—=r
a = —.
(1 —=7)o?

Dividing the equation by x7 /v and using this maximum, the equation simplifies to

—7r 2
—%?(t,x) — h(t)y <7“ T ;M) =0 on DI xRE, (43)

h(T) = 1.
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Denoting by n =~ <r + % ((1”_ t/g{;) we conclude that

h(t) = "1,

This suggests that in this problem v(t,z) = e”(T*t)%. We shall use the verification theorem
to prove this.

Proposition 2.3.2. For the utility U(z) = 7/, the value function of the associated Merton
control problem is given by

w(t,z) = T o

Y

B
where n =y (r + %%), and an optimal control is given by
* _ u—r
¥ (va) - (1 _7)0_2

for any starting conditions t € [0,T], x € RT.

Proof. Firstly, to prove that w satisfies conditions 1,2 and 8 of the verification theorem simply
follow the steps we did before, backwards. One can also check that

= ow 1 6%w 9 9 9
O_WEar%é]rIlgax{&r(t,x)m(r+a(u ))+§W(t x)r o‘a
for any (¢,z) € [0,7] x RT. Define a(t,z) = ez on (0,77 x R*.

Fix starting condltlons (t,z) € [0,T] x RT. Then, a(s,z) being constant, equation (38)
always has a solution, X&* and a(s, X2") € A(t). Now lets check that

E [ sup ]w(s,Xg”)]] < 00,
s€t,T)

which, as we have noted, will imply the condition in the verification theorem. Firstly we note

the following. For a Brownian motion, W, — W, (starting at t¢), the process el CWs=Wi)l ig

a non-negative submartingale for any C' € R, since z — €l®?l is convex and the process is

integrable. Therefore we can use Doob’s submartingale inequality to conclude

1/2 1/2
E sup SOVl < (B sup [€|C(stwt)\]2 <9 (E [e|C(WTWt)|r> .
sE[t,T] s€[t,T]
Denote a(t,z) simply by a. We have
t,T
w(s,Xﬁ”‘) = N(T=9) 7(XS )
Y
_ i(T=s) (exp{r(s—t) + a(u—r)(s —t) — 302a(s — t) + ca(W, — W) })?
Y
< BT JCT=0)| hoal W~ W)
e
(44)
where C' is some constant. It follows that
. ¥
E | sup |w(s, X57)|| < L eloT-oig sup eTeWs=Wol| oo,
s€[t,T] v s€t,T]
Therefore, using the verification theorem, w(t,z) = v(t,z) and « is an optimal control. ]
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3 Stochastic Volatility

3.1 Stochastic volatility models

In this section we fix a 2-dimensional reference space (2, F,F,P, W) and a constant p € [—1, 1].
We define a new Brownian motion W;* = pW}! 4+ 1/1 — p2W?2, so that the correlation between
Wy and W} is p.

We now generalize the Black-Scholes model by adding an extra stochastic process, and
letting the mean and the volatility of the stock be functions of it. For the extra stochastic
differential equation we shall always consider its domain D = R. Take continuous mappings
A, B : R — R. Suppose that for these mappings the stochastic differential equation

dZy = B(Zs) ds + A(Zs) AW}, Z; = =, (45)

has a solution for any starting time ¢ € [0,77] and initial condition z € R. Our new stochastic
volatility market model will be the following system of stochastic differential equations

dBs = rBsds,
dSs = 1u(Zs)Ss ds + e%s S, dW}, (46)
dZs = B(Zs)ds + A(Zs) dW,

where 7 > 0 and p : R — R is a continuous function.

We have generalized the notion of a stochastic volatility model so the volatility process is
always the exponential of the extra process. This is always possible if one does the appropriate
transformations. For instance if the volatility was of the form o(Yj), for some process Yy, with
an associated stochastic differential equation, and o, a bijective positive function, we can always
take Zs = log(o(Y5)) and find the equation for Zs by applying It6’s formula on log(o(Ys)) and
substituting Y by o~!(e%).

There are many examples of stochastic volatility models. For instance there is the popular
Heston model, which corresponds to the case

dB, = rB, dt,
dS, = p(Yi)Sy dt +/TiS, dW., (47)
dY; = k(0 — Y;) dt + a/Y; AW,
where p is some continuous function, and &, 8, o are non-negative constants satisfying
260 > a?,

the so called Feller condition. The equation of Y; is over RT, because we have assumed the
Feller condition, so to get to the form we have presented before we take Zs = log(1/Y5) which
if one applies the It6 formula and substitutes Y; by e?%* we have the stochastic differential
equation
1 oy 27, 1 Lz *
Az, = Z(?HG—(X Je ot — 3h dt—i—iae tdW;.
We end this section by giving a rigorous definition of what is a stochastic volatility model.

Definition 3.1.1. A stochastic volatility model is an ordered vector (A, B, 1), where
u: R — R is a continuous mapping, and A, B : R — R are continuous mappings, such that
A(z) # 0 for all z € R, and the stochastic differential equation

dZs = B(Z) ds + A(Zs) dW?, Z, =z, (48)
has an unique solution over [t,T), for any starting conditions (t,z) € [0,T] x R.

We could take A(z) to be always positive since if one finds a model where A(z) is negative
we can take a different Brownian motion where the correlation is —p. To avoid having to make
these transformations we present this definition this way.
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3.2 Formulation of the problem and the verification theorem

We fix now a stochastic volatility model (A, B, ). For the formulation of the control problem,
we can follow a similar approach as the one we did in the Merton problem. Fix (¢, z) € [0,T] xR
and Z, the solution to (48) for these starting conditions. Following the same steps as in the
Merton problem, considering only self-financed portfolios where the wealth process remains
positive and representing by ¢, the fraction of our wealth invested in the stock, we get the
stochastic differential equation for the wealth process

dXs = (r+ (u(Zs) = r)s) Xsds + eZ o, X, dW}, X, =, (49)

for starting condition = > 0. Since p is continuous and so is Zs, this linear stochastic differential
equation has a solution has long as

T
/ o(s,w)ds < oo, a.s.—P
¢
So it makes sense to define the set of admissible controls in the same way as in the Merton
problem. We give the definition again for easy reference .

Definition 3.2.1. We define the set of admissible controls, A(t), defined on t € [0,T], to be
the set of adapted stochastic processes, , with domain [t,T] X §, such that

T
/t lgs|? ds < 00, a.s. (50)

One can note that by supposing that the admissible controls are adapted stochastic pro-
cesses, they can be processes of the form a(s, Zs), and so we're in a sense supposing that the
volatility is perfectly observable, which is not entirely realistic. Yet one can use implied volatil-
ities wich is actually observable and infer the value of the instantaneous volatility. Another
possibility can be to use high frequency data ( we refer to [1] for this ).

We use the same concept for utility functions as before

Definition 3.2.2. An utility function is a function U € C*(R") such that
U(x) >0, U'(x)>0, and U’(x) <0, forallzeRT

We can now give the definitions of the Payoff function and the value function, which are
slightly different then the Merton problem.

Definition 3.2.3. For each (t,z) € [0,T] xR we correspond a process, Zﬁ’z, which is a solution
of equation (48) for starting conditions (t,z). Consider now the set

Q:{(t,aj,z,go)‘te[0,T],x€R+,z€R,<p€A(t)}. (51)
For each (t,x,z,p) € G we correspond a process, Xﬁ’gc’z"p, which is a solution of the equation

AXED#9 = (14 (u(Z5%) = 1)pa) X229 ds + 47 g, XEP=0 aW], XPP% =0, (52)

Definition 3.2.4. We define the payoff function, P : G — R U {+o0}, for the utility function
U, to be

P(t,z,2,¢) = E [U(X;"7%), (53)
and the value function V : [0,T] x RT x R — RU {400} to be
V(t,z,z) = sup P(t,z,z, ). (54)
PEA(t)

We also denote the value function V' by the lower case v.
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Once again, one can prove that the payoff is uniquely defined for any of the mappings we
take, since the solutions of the stochastic differential equations are pathwise unique.

Our objective is, for each (t,x,2) € [0,T] x RT x R, find a control ¢s € A(t) such that
P(t,x,z,¢0) = V(t,z,z). For this we develop the HJB equations. We shall now prove the
Verification theorem, as was done for the Merton problem. We start with a Lemma.

Lemma 3.2.5. Let w € C12([0,T] x (R x R)) be a non-negative function, and let U be an
utility function. Suppose that

1. for fived (t,z,z) € [0,T] x RT x R , the mapping

Ow 0w 1 0%w
i _ Ze A LO7W o2 2 2
a — [8xw(r+a(u(z) r)) + 529226 & (2)p+ 5552 4% ] )
s bounded above for a € R;
2. w satisfies the inequality
ow Ow 1 0%w 9
T 0. ) T g g b))
ow 2w 1020 o, 5 4 (55)
_ it _ Ze A - z >
ilelﬁ [axx(r—l—a(,u(z) r)) + 520, % % (2)p+ 552¢ % ] 0

in [0,T] x RT x R;
3. w(T,x,2) > U(x), ¥Y(z,z) e RT xR.
Then w > v on [0,T] x RT x R.

Proof. Let (t,x,z,¢) € G. Take ZL*. the solution to equation (48) for starting conditions
(t,z), and X" as in definition 3.2.3. Consider a stopping time 6 with values in [t,T]. Since
w e CY2([0,T] x (R* x R)) we may apply Ito’s formula on w(6, X;***, Z;*) and obtain

t,x,z,p t,z T dw
w(eaXd 7’ 7297 ): w(t,aj,z) + \ 1[t,9](5)7

m(...)ds

T ow t,x,2,p0 t,z

+t Lo (s) 5 () XSD52(r + (w(Z7) = r)ps) ds
T ow -

+ [l G Bz ds

1 (7 H? . t,2\ 2
+ 2/ Lo (s )6 1;}( *) (Xﬁ» ’@)2 (SOSGZS ) ds
! (56)

+ / () L (X B , A(25) ps
. LN 9202 s s

1 [T 0%w 2\ 2
3 | a0 Gzl (AZ)? ds

T
8'(0 z t,z
+/ 1[t,9](3)78$("')X£7 P o  dW,!
t

T
8w 4 *
+ [ (o) e (A2
¢ z
a.s.-IP, where the ”(---)” are abbreviations for (s, X:™*%, ZL?). We define the stopping time,
O, for n € N, and valued in [t, T], by
mf{s € [t,T] ‘ 712 ( )Xt’x’z"’g Zi 2 du > n
On(w) = ANLEE Z“)y2du>n} if {(se[t,T]| -} #0;
T if{set,T]| -} =0.

Y
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Then for these stopping times, the stochastic integrals terms in (56) have expectation 0. On
the other hand we have, by condition 2

O )+ QB )X ((ZE) ~ o) + O () BZE)
) (XY () 4 X A
L LOW ) (az)?
<P Bz« ST () (57)
o { B X 4 (Z) =)+ § ) (X
(’fxaz( Ya XEPeeZ A(Z0)p }
<0

for each fixed s € [t,T] and w € Q.
Given all these observations, taking the expectation in (56) for 6,,, we have

E [wwn,ngw Zf)f)] < w(t,z, 2). (58)

Since w is a continuous non-negative function and lim, .. 6, = T, a.s.-P, we may use Fatou’s
Lemma to obtain

E [U(X;I’Z#’)} <E [w(T, X;SW,Z;Z)] < liminfE [w(en,ng’z’@,zgf)} < w(t,z,2). (59)
This holds for all controls, so by taking the sup in ¢ € A(t), we have

V(t,z,z) <w(t,x, z),

We present now the verification theorem.

Theorem 3.2.6. (Verification theorem) Let w € CY2([0,T] x (Rt x R)) be a non-negative
function and let U be an utility function. Suppose that

1. for fived (t,z,z) € [0,T] x RT x R , the mapping
2

1 2
a— a—wx(r +a(u(z) —r)) + ae*rA(z)p + fa—eQZaQ;ﬂ ,

ox 0x0z 2 Ox2
is bounded above for a € R;
2. w satisfies the equality
ow Ow 1 6%w 9
5 EB( z) — 292 (t,z,2)A(2) 0
—su a—wx(r +a(p(z)—1))+ 0w ae*rA(z)p + 1a2we2za2952 =0
ae% Oz H 0x0z P53 022 a

in [0,T] x RT x R;

3. w(T,z,2) =U(z), V(z,z) e RT xR,
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Let a: [0, T] x R* x R — R be a function such that

ow Pw 10%w 5, o
at,z,z) € ar%enﬂl%ax {axac(r +a(u(z) —r)) + 5292 %¢ zA(z)p + 3528 4T } , (61)

on [0,T] x RT x R (such a function always exists by condition 1).
For (t,z,z) € [0,T] x RT x R consider Zﬁ’z, as in definition 3.2.3, and suppose that the
equation

X" = (r 4 (u(ZE7) = r)a(t, KL%, Z0%) X075 ds + % a(t, X075, Z04) X072 aw!, (62)

has a solution, X027 on [t,T] with starting value z. If at, X2™%, ZL%) € A(t) and for any
sequence, (Tn)neN, of stopping times in [t,T| the collection

{wim, X0, 282)} (63)
" ") neN
is uniformly integrable, we have

w(t,x,z) = P(t, x, z,a(s,f(ﬁ’x’z, ZM)) = v(t, z, 2).

Proof. By the last Lemma it’s immediate that w > v on [0,7] x R* x R. Fix now (¢,z,z2) €
[0, 7] xR xR. Denote by ¢* = a(s, Xt™*, Z57). It should be immediate that X5™* = X5"%¢
for all s € [t,T], a.s.-P, using the pathwise uniqueness property of linear stochastic differential
equations.

In an analogous argumentation as in last Lemma, we may take It6’s formula on the process
w(bp, X;:”’Z*P*, Zéf% where 6,, is the same stopping time as in the Lemma, and obtain

E [w(ﬁn,ng’z’“o*, Zgnz)] =w(t,z,z),

for s € [t, T], where this time we have the equality by the stronger conditions on the function
w and condition (61) on a.

Now since
lim 6, =T, a.s.—P,

n—oo

and by hypothesis the collection
{wio.. 2. 247}
is uniformly integrable, we have

n—oo

Since we have always v(t, z,z) > P(t,x, z,¢*) it follows that v(¢,z,2) > w(t, z, z). But we also
have w > v on [0,7] x RT x R, therefore

w(t,x,z) =v(t,x, 2)
and since E [U(Xélz’z’@*)} = w(t,z,z) we have that a(s, XJ™*, ZL%) is an optimal control. [

Our proof of the verification theorems is inspired by the one done by Pham [19] for the case
where the control equation is Lipschitz. Kraft [13] proves the Lemma in a quicker way using
properties of local martingales, but for the full Verification theorem he needs to use stopping
times like here. We have decided to present the proof this way because it seems simpler.
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3.3 Power utilities in stochastic volatility models

We shall now consider power utilities, i.e., the case U(z) = % for some v € ]0,1[. For these
utilities the HJB equation will simplify to a linear equation. This result is due to Zariphopoulou
[23].

First we note the following

e =y B[(8) o] =5 g B[] =5 B (),

i.e., the value function for these utilities always has the form %G(t, z), where G : [0,T] xR —
R is a positive function (we suppose the above sup is finite).
The HJB equation for the stochastic volatility problem is

ow Ow 1 0%w 9
“or 9.0 " 920
2 (65)
—su %x(r +a(u(z) — 1)) + 0w ae”rA(z)p + 18—eQZOL%l?? =0
wer | O g 9302 2 02 -0

on [0,T] x RT xR, with final condition w(T, x, 2) = 27/ on R xR. Suppose that this equation
has smooth solution, w, and that it admits a decomposition of the form w = G(t, z) 7 /v where
G(t,z) € CH2([0,T] xR) is a positive function. Rewriting the above equation in terms of G(¢, )
we get

(66)
— SIEIIIR? G(t,z)(r+a(u(z) —r)) + %aezA(z)p + %G(t, 2)(y — 1)e*a?| =0,

on [0,7] x R, with G(T,z) = 1 on R. Since G(t,z) > 0 the above supremum always achieves

its maximum, because the coefficient of a? will always be negative. Applying the derivative on
a we find this maximum to be

. pz) - Alz)p 0G 1

T U —eE T (T—)e 02 Gt 2)

for each ¢t € [0,T], z € R. So the equation simplifies to

G . 9G 19°G
EjLEB( H?WA( 2?2+ Gt 2)ry
Lo 2w = | 0G(w(:) — AR | 17 (AR (0G\? 1
T30) -7 "oz (Q-ye 2 (1-9) <5Z> G(taz)_(:. )
67

This, being non-linear, is not easily solvable. We shall transform it into a linear equation by
considering a transformation of the form G(t,z) = H(t,z)", for some n > 0. Writing the
equation in terms of H(t,z) we have

2
nH" 19 +nH" 1‘(91L[1_f3(z)+1 (n(n—l)H”2 <%€I> nH" 19 )A(Z)Q-i-’YT‘Hn

ot 0z 2 022
1 y(u(z) —r)? 100 3(u(z) =r)A()p 1 RH2 OH\ " vA(2)%p*
s (1 —7)e* o (1—7)e* Tarh <82> (1—7) _0(' |
68
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H\ 2
Adding the terms with H"~2 (%) we get
z

7 (S0 A (atn -0+ ).

vp?

(1-7)
I e
1yt

This suggest taking n so that n(n — 1) + n? = 0, which corresponds to

n
So, taking this n in equation (68) and multiplying by %H 1=7 we have

OH O0H 10°H , o Ar
Y(u(z) —r)* | OH y(p(z) — r)A(z)p

) (69)
27 p(1—7)e2z " 9z (1 —~)e?

+ — 0.

Finally, we introduce the transformation
H(t,z) = e%(T_t)F(t, z)
which, writing the above equation in terms of I, one gets

OF OF 10%F 1 _v(w(z)—r)?  OF y(u(z) —r)A(z)p
o T B AR e T e = (10

It follows that finding a solution to the HJB equation is equivalent to finding a solution to
this linear differential equation. We have then a simpler Verification theorem for these utility
functions.

We present now the Verification theorem for these utilities.

Theorem 3.3.1. (Verification theorem for power utility functions) Let v €0, 1], and define

1—7

nN=+——"5.
L — 7+ p?

Let F € CY2([0,T] x R) be a positive function satisfying

OF OF . 18PF ., 1 _4(u(z)—=1)® . OFy(u(z) = )A()p
el Tl il iy ARAY T — 1
ot o2 Blz) + 2 022 A"+ 2F n(l—~)e?* = 0z (1—~)e? 0, (1)
on [0,T] xR and F(T,z) =1 on R.
Let a: [0,T] x R — R be the function defined by

p(z) —r  mpA(z) 1 OF

o) =G5 T Aoy Fi s 07 0

(72)

For (t,x,z) € [0,T] x RT x R consider the process Zt*, as in definition 3.2.3, and let X7™*
be the solution of the linear stochastic differential equation

dX57 = (r 4+ (W(Z9) = r)a(t, Z9) X5 ds + eZ?za(t, zZAHXtezawl,  XPTF =z (73)

Then, for the utility function U(x) = %, the function

Y
wit,a,z) = " TD Rt 2y
Y
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is a positive function satisfying conditions 1,2 and 3 of the Verification theorem (T heorem 3.2.6),
and if for any sequence, (Tp)nen, of stopping times in [t,T] the collection

{ur X022, 22}
neN
18 uniformly integrable, we have
w(t’ '/1:7 Z) = P(t7 x’ Z? a(87 Z§7z)) = /U(t7 '/1:7 Z)

Proof. Firstly, to check that w is a positive function satisfying conditions 1,2 and 8 of the
Verification theorem simply follow the steps we did backwards. Consider this w now and lets
apply the Verification theorem under our suppositions.

Lets start by finding a function @ satisfying condition (61), i.e

ow 0%w 1 0%w
a(t,z,z) € argmax ¢ —x(r +a(pu(z) —r)) + ac*rA(z +77622a2x2 . 74
(t0.2) € angmax { 5+ alu(z) — 1) + 2 0 s A+ 35 (1)
Since w is a strictly concave function in z, this max is unique. Applying the derivative on a
on the above expression and writing the derivatives of w in terms of F' we have

2" TR, ) (u(z) — 1) +$76WT(T—t)na£

3 F(t,2)" ' A(z)p+ (v — D" TV E(t, z)e*a,
2

so finding the 0 in a we get

plz) —r | mpA(z) 1 OF
(1—7)e2z (1 —7)e* F(t,z) 0z~

It follows that the function @ that satisfies condition (61) of the original Verification theorem
is the o we have announced in this Theorem (technically @ is a function of one more variable
but this makes no difference). Therefore equation (73) is the same equation as (62) in the
Verification theorem.

Now since «(t, ZL%) € A(t) always, being continuous, and the uniform integrability condi-
tion is assumed we may apply the Verification theorem and conclude

a(t,z,z) =

w(t,z,z) = P(t,z,z,a(s, Z%)) = v(t, z, 2).

We finish this section with a case where the solution is very simple.

Example 3.3.1. Take pu(z) = r + Xe®, for some A > 0. In this case, equation (71) simplifies

to
oF OF 10%F 1 y 5 OF vyA(2)p
a0 T e BE g AR g TN o

on [0,T] xR and F(T,z) =1 on R.
Considering the transformation F(t,z) = exp {

N(T — )}F(t, z), one gets the equa-

77(1 v)
tion L L - oF A()p
OF OF 19°F 9F ~ B
a0 Vo B T AR G )A—O'

on [0,T) x R and F(T,z) = 1 on R. This equation has the simple solution F = 1, has one
can check. Therefore F(t,z) = exp{ T ))\2( )} is a solution of the initially considered
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equation. Lets prove now the other conditions of the Verification theorem for this F'. The
function o : [0,T] x R — R given by (72) is
A

a(t,z,z) = A=

Fiz now (t,z,z) € [0,T] x RT x R. For this a we can check that the equation for Xi™* is

simply
2

-y

A A A A
dXbm* = (7" + ) Xomids + PngW awy,
which has a geometric Brownian motion solution. It follows, that

Y
w(t,x,z) = L (M=) r5 X (T-1)
0

satisfies condition 1,2 and 3 of the Verification theorem and since

E [ sup ‘(Xﬁ’x’?‘)V e (T—t) (F(s, Zﬁ’z))n‘ <CE

s€t,T)

A gl
sup <X§’I’Z) < 00
s€[t,T]

for some C' > 0, where the expected value is finite because X0"% s a geometric Brownian
motion, the uniform integrability of the Verification theorem is verified. It follows by the Veri-
fication theorem that w(t,z,z) = v(t,z,z) and

A

(s, 2 =

is an optimal control for this starting condition (t,x, z).
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4 Models based on the CIR process

4.1 Solving the HJB equation

In this section we suppose that p # 0. The stochastic volatility models we shall look at now,
are models based on the Cox-Ingersoll-Ross process. These were proposed by Kraft [13], as
a generalization of the model found by Liu, in [15], to have an explicit solution to the HJB
equations. The CIR process is the solution to the stochastic differential equation

dY, = (0 — Yy) ds + 0/ Y, dW}, Y, =y, (75)

where k, 0,8 > 0, are positive constants and (¢,y) € [0, T] xR are the initial conditions. Under
the condition 2xk6 > §2, the so called Feller condition which we shall assume, the process Y; is
always positive, i.e., Y; > 0 for all s € [t,T], almost surely.

Take v € R\{0}. We shall consider a model where the risky asset is modelled by the
stochastic differential equation

v/2+1
v

S, = So(r + MNYa) "% ) ds + So(Va) v dW}

where A > 0 is some constant. So for instance for v = 2 we get the model discussed by Liu
[15], an Heston model with the drift of the stock to be linear on the square of the volatility,
while for v = —2 we get the model proposed by Chakko and Viceira [2], where in this case we
get a constant drift.

Lets now change the volatility process so it’s like in our formulation. For this we want a
process Zs, satisfying e%s = (Y;)/¥. Applying Ito’s formula we have

1 (11 o K 5ol

We can then rewrite this equation in terms of Z; to obtain

1 0 _v
dZ, = (6%2@%9 - 6% - F”) ds+ e 27 AWy, (76)
14 v

v

In terms of Z,, the equation for the stock becomes
dS, = Sy(r + AelzTV%s) ds + S.eZs dW].

Writing as in our formulation, it follows that this is a stochastic volatility model such that

B(z) = e_”zi(Q,%H — 6% — E, A(z) = ée_%z, and p(z) =1+ Aelz T2,
2v v v
That there is an unique solution of the associated equation, using A and B, follows from the
fact that it’s a transformation of the CIR process equation, and that the coefficients are locally
Lipschitz.
For ease of notation take b = %(2/@9 — 62), which is always positive by our supposition. In
this model, equation (71) for F' is then

- NOF
Vg 2P A0E o

ot " 2z T22¢ 9z Tagu—y) -~ v 02

ot

OF <1b s /@) OF 168 _ 0*°F 1 v
Zpevr

14 1%

on [0,T] xR and F(T, z) = 1 on R. We shall now make a change on the time variable, s = T'—*.
Defining F'(s,2) = F(T — s,z) on [0,7] x R we have the equation for F'

I 1 162 ’F 1 -2 SAOF
—8+<Vbew—”">a 2O L Y epy e DO0F g

0s v 54_5?6 022 2n(l—7) l—yv 0z
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on [0,7] x R and F(0,2) = 1. Now we shall prove that there’s a solution to this equation of

the form
F(s,z) = efS)Ha()e”

where f,g € C*([0,T]) are functions to be determined. Given the initial condition F(0, z) = 1
we impose the condition f(0) = ¢g(0) = 0. Now note that
vz F vz
(f'(s) + g/ (s)e"?)el ) Ha()e™™ % = g(s)wezel (Itals)e”
z

oF _
ds
and

-
(27}; = (g(s)v2e"* + g(s)*v?e??)el (I Ta()e”,

Plugging these expressions in the equation we obtain

(79)

1 Y2
+ —=g(s)?v2e”” + - ———XNe”* + L Zg(s)re’* =0,
79(5) 2n(1—7) l—y v (s)

which can be simplified to
1
~ 11() +bgls) + 50%(s)

(80)
ve [ sy — [ — P 5% ) (s }252 1 v 2\_
e (g() ( 1_75)\>g()+259() +277(1_’Y))\> 0.

It follows that if we find g and f satisfying

/ TSN 1 Ly 2

~f(s) + bals) + 50%9(s) =0, (52

with g(0) = f(0) = 0, we will have found a solution to the initial equation. The first equation
is a Riccati type ODE. One can only solve it under certain conditions. For this suppose there
is h € C%([0,T)) with h(s) > 0 on [0, 7] and such that

2 1(s)

g(s) = —52w, on [0,T].

Plugging this equality on the above equation and simplifying, one obtains the equation for h

” ’ P 5 1 527 32
h"(s) + h'(s) </<; I —75/\> + 1o _7)/\ h(s) = 0.
Since we need h to be always positive, we see that if the characteristic polynomial of the equation
has no roots, we have no good solution, since these solutions always reach 0 eventually. If it
has one, and only one, root, it might be possible, but we ignore this case since it only happens
on a very specific case for our parameters. We suppose then that there are two roots to the
characteristic polynomial. This is of course equivalent to supposing that the discriminant is
positive
w oS\ 6y e
k———0A] ———\">0.
( 11—y ) n(l =)
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Noting that n = — - and developing the square, we can simplify this condition to be

1
1=vy+p
8y 32 P
2
N 4 25— 65X,
K> 2 (83)

Note that )\ > (0 and x > 0 so under the above condition we have

1
5/4? > ié)\

since k > 0 we also have xk > %m SO

/{—176)\>0

i.e., above, the term multiplying by h/(s) is always positive.
Denote now by r1 and ry the roots of the polynomial, i.e.,

1 1 v <\? 82y =2
r,Te = 2(/1 T 5)\) 2\/(& 1_7(5)\> ?7(1—7))\'

With the previous observations we see that both of these roots are always negative. Lets take
the roots such that r; < r9 < 0. The general solution of the second order ODE for h is given
by

h(s) = C1e™® + Coe"®

where C1,Cy € R are some constants. We need that h’'(0) = 0 so that g(0) = 0. Therefore we
need the equality
Ciri+Cora =0

Take then C; = —1 and Cy = L. We note that since r; < r9 < 0 we have > 1. Therefore
r1s Tl ros
-+ =€ >0, forall s>0.
)

It follows that the function

h(s) = —e"* + T—lems, s€0,T]
T2

is always positive, satisfies h'(0) = 0 and satisfies the ODE. Therefore we have that g(s) =

—5%};:((;)) satisfies equation (81) and ¢(0) = 0. For f, noting equation (82) and condition

f(0) =0, we have

fs) = (b+ %52) /Osg(T) dr = —%(b + %52)(log(h(s)) ~log(h(0))), s€[0.T].  (84)

It follows that g and f are solutions of equations (81) and (82) respectively, and ¢(0) =
f(0) = 0. Therefore F(s,z) = ef(9)+9()e”* {5 a solution to equation (78), and noting our
transformation, F(t,z) = ef(T=0+9(T=0e" is a solution of (71) for this model. We found
then an explicit solution to the HJB equations. We synthesize these results in the following
Proposition.

Proposition 4.1.1. Let v € R\{0} and k,0,6 > 0 be constants such that 2k > §2. Suppose
further that

2y 2
k- P sx) -2 N>, 85
( -7 ) n(l—7) (85)
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where v €]0,1] and n = W
Then the linear differential equation

oF 1 oF 142 0’F 1 v vp 6AOF
—Vvz __ - vz - VZF - - -
8t+< be >8z+2u26 8z2+2n(1—’y))\e l—vyv 0z =0 (%)
on [0,T] x R with F(T, z) = 1, admits a solution of the form
F(t,z) = ef(T*tHg(T*t)@”Z’
where f,g € C*([0,T)]) are functions satisfying
Cd(s) = [n— 2P L TRORe S S S
g (s) <K, = (5)\> ()—l—25 g(s) +277(1*’Y))\ =0, on[0,T], (87)
1
—f'(s) + bg(s) + 5529(5) =0, onl0,T], (88)

and f(0) = g(0) =0, given explicitly by

2 elr2=r)s _q 2 roe’® —rie’?®
g(s):_rléﬁgeﬁé_rl)s_l? f(s)——(p/ié?log( Ty — 11 > )

where r1,T9, are the constants

_ 1 1 w o\ P e
71,7y = 2(& T 5/\> 2\/(1@ 1_76)\) 77(1—7))\

(we’re considering r1 < r2).

4.2 Proving optimality

Now that we have a solution to the HJB equation, we would like to check that this is in fact
the value function, using the Verification theorem.

Lets start by noting that
oF 1

9z F(t,2)
The function « in this model, noting (72), is given by

Mu@:eﬁlﬁ<1f7+l_5( 0.

=vg(T —t)e"”.

For ease of notation lets define

g(s) = 1_/\7+5 (s), Vsel0,T],

so that a(t,z) = e(%fl)zg(T —t). Given all these observations, the solution to equation (73),
XE%% g
A~ — s t,z
XH™% = pexp {r(s —t)+ )\/ "2 G(T — u) du
t

]. s 2 S v 2
_2/t evZu g(T—u)Qdu—F/t e5 % g(T—u)dW&}.

30

(89)



Define w as in the Verification theorem. Take now a sequence of stopping times (7, )pen in
[t,T]. Our objective is to prove that the collection

{wtm, K200}

is uniformly integrable. We shall do this by proving that there exists C' > 0 and ¢ > 1 such
that R
B [w(ra, £, 227] < ©

Firstly, we shall define
= /1 - p2Wl— pw2
Noting the definition of W = pWl+ /1 — p2W2, we see that W is independent to W (their
covariance is always zero). We may in fact write W} and W2 in terms of these new Brownian

motions
W= pWr+/1-p2W,, and W2=\/1-p2W; - pW,.

Writing w(s, X5™*, Z1%)4 explicitly we have

o 4 _ [ =
w(s, Xg™%, Z07) = % exp {W(T — )+ qw\/t "% g(T — u) du
1 S Zt,zi 2 S ZZt’zf 1
—27q/ e’ g(T — u) du—{—’yq/ e2?w g(T —u)dW, (90)
t t

t,z
+anf(T — ) + qng(T — s)e*?: }
Now note that

/eZZi’Zg(T—u)dwjzp/ €27 g(T —udW*+\/1_7/ PGT — u) WV,
t t

and

"2 (T — ) = e G(T — t) — / "2 G (T — u) du + / (0 — "2 )g(T — u) du
t t

s (91)
+5/ e2Zd G(T — u) dW;,
t
which implies that the stochastic integral above is
* ugte_ 1 * ugte_ 57d V4P vzt
vq/ e2? g(T — u)dW, :fyq\/l—pQ/ ez g(T—u)qu—i-Te s g(T —s)
¢
vgp e/2g(T quﬁg / (92)
+ % e”Z:ZZ (7(T = u) + k(T — w)) du.
¢

Therefore we have the inequality
5t t s Zt,z P _,y P _ 17 2
w(stsw’Z?Zs’Z)qSMleXp / ev o Yq gg (T—U)+ <5H+)‘) g( —U)—ig(T—U) du
t
’)/ _ t,z
+4q (ng(T — )+ Fpg(T - 8)) e’
S
+vq\/1 — ,02/ 5% 9(T — u) qu}
t

(93)

where M7 > 0 is some constant that bounds the deterministic functions.
Now we prove the following Lemma
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Lemma 4.2.1. The function g(s) satisfies

_ A 1.1—+v A 1. A
/ - - 2
—7g(s) — /@+5>gs 4+ =0——3g(s)“ +k + =0 = 0. 94
(=) < p ()3 pn 5) 1—vy 2 p(l-7) 5
on [0,T].
Also we have the inequality
K
ng(T = s) + LT~ 5) < 5. (95)

Proof. We know that g satisfies the equation

—4'(s) — (n — 15)\> g(s) + %(529(3)2 + ELX =0,

o) =2 (5 - )

and we may write the above equation in terms of g

1—v_, 1—7( P ) 1—7( VP > A
———7'(s) — K — oA )+ —— 1| r— oA

pnég() T g(s) o -
2

1 1—v\?/_ A 1 v =
2 pnd 5) 1—vy 2n(1—1)

Multiplying by = and simplifying

_ — X 11—~
—g’<s>+( ot = 2 g(0) + 550 gt
-7~ n 2
vp X1 X v %)
~ 2
+ (k- 5)\> +26 4= N
( l—y " J 1=y 2 (1=79)pm 2(1-7v)?
Now using 1 = 1—17;7702’ note that
SN )
SR L 5 WA 1
- pn p
and
2 -~ 1 2

-\ A 1 A 1 -
<n—17" 5/\> + 59 Y S Y g ifﬁd A

so we have that g satisfies

A v A 1. A
—/ — — 2
()~ (492 ) 0) + 500 Va0 +ny 2+ 30 —0. ()
p 2 pn l—y 2 p(l-7)
Now lets prove the inequality. Firstly, noting the definition of g as given in the Proposition
of the last section, we have for s > 0

(s) = 2 el—m)s—1 2 elmr)s — 1 2 elr2=r)s
g(s) =—r 62 %6(7"277“1)5 —1 52 172 Tle(rgfm)s — 1 T2 r172 7‘16(177741)8 —r1 47— 7o
2 1 2 1 o7
5 T172 = <-5m <5 </<6 - 5)\> ;
T2 —T1+ SmiaT 92 52 1—7

(98)
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and since ¢g(0) = 0 this inequality holds for all s > 0. Now note

p_ o A pn
ng(T'—s)+ ——g(T'—=s5)=ng(T —s) + ———+p 9(T —s)
o 01—~ 1—x (99)
Ayp < vp? > Ayp
=—4+n(1+ 9T —3s)= ———+g(T —s),
6(1 =) 11—~ (=) 5(1 =) =2
and using our previous inequality
- Mp 1 W N\ K
T— —g(T —s) < S |k———0) ==. 100
wo( =)+ Wgr =) < 7274 5 (o= 220 = (100
O
Using the equation for § we just found, we can note that
p X 1N

Paiir — P o XN T — ) = 22T 2 P -
5g(T u)+(6/€+)\)g(T u)—2 ; 9(T — u) +K51—’Y+21—’Y'

Using this and the inequality proved in the Lemma, we can further inequality (93) to be

ot.x,z r7t,z\q s A 1 1_'7 _ 2 P X 1 XQ
’ZU(S,X877,ZS’) SMleXp ) [ vq| = T—l g(T—U) +/€51_’y+§1_7 du

KR t,z s vtz —
+ q5—26”ZS +yq/1—p? | 2% G(T — u) qu}.
t

(101)
Now note

t,z s t,z $ vtz
evZsT = ev? —|—/<;/ (0 — e¥Zu )du—|—5/ exZd AWy,
t t
so we can further the above inequality once again to be

3 2
) S e (11— X 12
w(s, X;™%, Z%)1 < Mpexp { / e vq( <n7 - 1) 9T —u)? + 2 + ) du
t

§1—~ 21—~
2 s s
_qu/t i du+q§/t oB'a u

(102)

where My is a new constant that bounds the deterministic functions. Now we shall add and
subtract the terms

I LR 2y 2
51 ¢ @y —w? ) du,
t
to obtain
g 1 g
< - 1) +57°d° (1 - p2)> 9(T — )’
" 2
_ ~2
pA 1A 2L oK
p_A L oA R L Rt
ORI Tt T Tt
sl L[ (i ) d
Pl172) ¢ o =gl ) ) du
+q’;/ eZZZ’ZdWJ+vqﬂ/ BLCG(T — u) qu}~
t t
(103)
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Now note, using the definition of 1 and simplifying we have

1(1—vy 1 1
- (n _ 1) + 27221 = p?) = §q72(1 -p)(g-1)

On the other hand, noting inequality (83), we have
p A L 1 ’y/\ < K2
i -
ST T 21— T 262

where this inequality is strict so we can take € > 0 such that

oA 1 7X2 K2

STy 315 252 ©
where this € does not depend on ¢q. It follows that

N ~2
p_A 1% AR L R T U
5 3 g P = 1) — g (104
qwaél -y 2q]_ — (52 + q 52 €q 262 + 2 52 62Q(q ) €q ( )

so the first exponential of the above inequality (103) simplifies to
s a1 _ 1 k2
exp { / e’ [QQ’Y2(1 =g = 1g(T - w)* + 5 5ala—1) - eq] dU}-
t

Since g is bounded, the above expression will approach —e¢, as ¢ — 1. It follows that we can
choose ¢ > 1 such that the above expression is negative, and so this exponential is smaller then
1 for this choice. Therefore, for this choice of ¢

t,z

R 1 /3 7 (2
w(s, XP™%, ZL*)T < My eXp{ — 2/ e’ <q252 +7°¢°(1 = p*)g(T - U)Q) du
t
K $ ZZt,Z ® D) S ZZt’Zf -
+q5/ ez dW, +vq\v/1—p / ez? g(T —u)dW, ;.
t t
(105)

This process that bounds w(s, X4, Z5*)4 is a non-negative local martingale, with starting
value My, so it’s a supermartingale. Denoting by D the above supermartingale process that
bounds w(s, X£™*, Z2*)4, we have that for any sequence (7,,)nen of stopping times in [t, T’

E [w(Tijf’z, Zﬁ;f)q} < IE[D%} < M, (106)
since Dy is a supermartingale and D; = M. Therefore the collection
{ (Tn’thz th) }

is uniformly integrable, and so we can use the Verification theorem to prove that the solution
we found to the H.JB equation is indeed the value function. We synthesize the results proved
in this section in the following Theorem.

neN

Theorem 4.2.2. Let (A, B, ) be a stochastic volatility model such that

B(z) =€~ =1 —(2k6 — %) — E A(z) = ée_%z, w(z) =r+xeztV2 2R,

21/ v’ v

where v € R\{0}, and k, 0,0, \ € RT are constants such that 20 > §2. Suppose further that

2y 2
k- P 5x) - 20 N, 107
( 1—7) 1= (107)
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1—y
1—y+7p°
the above stochastic volatility model and utility U(x) = 27 /v, x € RT, is given by

where v €]0, 1] is some constant and n = . Then the value function for the problem of

2
v(t,z,z) = Jj—eW(T*t)F(t, z)"
7

where F' is the function presented in Proposition 4.1.1.
Also the function a presented in the Verification theorem for power utility functions 3.3.1
18, for this model, given by

a(t,z) = el571)7 <1ify + %@(T - t)) ;

and for each starting conditions (t,x, z) € [0,T] x Rt x R the optimal control is a(s, ZY?), i.e.

v(t,z,z) = P(t,x, z, afs, Zﬁ’z)).
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5 A general approach to solving the power utility case

5.1 Simplification of the equation

For the linear differential equation found for the power utility function, one can find a candidate
of the solution using a Feynman-Kac representation. Noting the equation

o 7 A2 OF vpA(z)

aF OF 182l (2)? + &
2 022 2" n(l—7) 0z (1—7)

5 T g, B+

Az) =0,  (108)

with the final condition F(T,z) = 1, where we're denoting A(z) = “(Z) " to find the corre-
sponding Feynman-Kac representation of this equation we need a solutlon to the stochastic
differential equation

ay, = (B(n) ¥ "A(}@)A(l@)) ds+ A(Y,) WS, Yi=»,

1—7

for any (t,z) € [0,7] x R. Denoting by Y5 a solution to the above stochastic differential
equation with starting conditions (¢,z) (if this solution exists of course) the Feynman-Kac

representation is given by
1 i 4 2
E exp{/ ANYL? ds”. 109
[ 2n(1 =) Ji &) (108)

This representation as a function of (¢, z) € [0,7] x R is then candidate to be a solution of the
above linear equation. For the full proof of this we would need the backwards implication of
the Feynman-Kac formula theorem, which we do not know to be true for our conditions. We
would like to at least be able to know that the representation we find is finite.

In the model discussed in section 4 proving that the above expectation is finite using this
approach is actually possible, and is in fact how Kraft [13] approaches the problem. This is
because, this process we need to use for the Feynman-Kac formula remains of the same type,
since in this case

B(z )‘i‘f)\( 2)A(z) =e " —

and since under condition (85) the above constant term has the sign of —%, we have that the
corresponding process s is still CIR process. The above expectation (109) can be solved
explicitly in this case and the solution is the same as the one we have obtained.

Yet in some other cases this might not be so nice, in fact remaining in the same example,
if we consider other functions for A(z) we may not be sure that equation (108) has a solution,
or maybe for the solution it may not be easy to prove that the Feynman-Kac representation is
finite.

It might be useful then if we could do some transformation on the equation, such that the
infinitesimal generator became the one of Zﬁ’z, the process of the stochastic volatility model.
We would then obtain a different Feynman-Kac representation, but one that uses a process
that should be easier to work with. This can indeed be done by considering a transformation
of the form

F(t,z)=e99F(t,2), onl0,T] xR,

where F is a function satisfying equation (71) and g € C?(R) is a function to be determined.
For this transformation we have the equalities

OF _ g 08 OF _ 4 o F 4 92O

ot ot’ 0z 0z
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and
O*F " / 2\ 9(z2) / ()Y
S = (9"() + (g ()" + 29 (2)e?

To simplify notation we define A : R — R as

OF 0*F
g(z) 2
0z te 022"

Az) = M(Z)Z* r
We have then the equation for F, e
O JOBEIT + B&o + LA 0 + (0 )IF + A () .
2A(z)2(2)222 E AT + g (@)L AT + AN )gf 0,

with final condition F (T, z) = e~9(*). This suggest we take g such that

AP (2) + T ANE) = 0.

For instance we may take

1—vJo Ay)
Since we have supposed A(z) # 0 for all z € R this is always possible. We also want this
function to be in C?(IR) so we suppose that A\(z) and A(z) are C*(R) functions.
Taking this ¢, the equation for F simplifies to

o(z) = - 2P “ )

8(951; + B(2) oF + 1A(z)27 + h(2)F =0,

FE
where h is the function defined by

ANz Lo e M) e Az, PP AMz)?
h(z) =— B(z)—— —A — A
() == BT A0 T T Ae T T et O T T A
1 v 2 P 2
+-—A2)" — A(z)°.
2n(1—7) ) (1—7)2 )
(111)
This function can be expressed in a simpler form. Firstly we remind that n = ﬁ, so the
term above with this constant is
I s 1 v o 1 P >
—— A2 ==——X2)"+ = A(2)%,
2n(1 —~) (2) 21—7() 2(1—7)? =)
using this and simplifying, we obtain
old A(Z) 1 9p )4 L 0P 1 4%p° >
h(z)=—1B A A )\ Al(2) + = A

1 2 1 7% R A 2
+21_ A(z) +2(1—’Y)2)\(Z) A(z)7,

or simply

hz) = - jl(é)) ST AN + 3 TEARAG) + AR (1

We synthesize this discussion in the following Proposition.
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Proposition 5.1.1. Let (A, B, ) be a stochastic volatility model such that A,pu € C'(R).
Define A : R — R to be the function

If F € CY2([0,T] x R) is a function satisfying

OF OF 1 . ,0°F

+F =B 51((?) _ ;1’7_”7,4(2»'(2) + ;J_’O’yA(z)A’(z) + ;11&(@2 —0

(114)
= _ o[ A) :
on [0,T] xR and F(T,z) = exp{ —— —2L dy s on R, we have that the function defined
1—vJo A(y)
by
o (FAY)
F(t, z :exp{— dy}Ft,z, on [0,T] xR
(t.2) 2 [ A b P, on 0,11
satisfies
OF OF 10°F 1 v OF vA(z)p
=~ 2B - A2+ - F— 1 24 = 115
ot * 0z () + 2 022 (2)"+ 2 (1 —’y))\(z) * 0z (1 —fy))\(z) 0 (115)

on [0,T] xR and F(T,z) =1 on R.

Following this transformation we have the Feynman-Kac representation for F

zy* T t,z T
E[exp{w T Ay) dy — / B(Zt,Z)A(ZS ) gs_ L P A(Z)N(25%) ds
t

1—vJo Aly) B 1—x s A(Zﬁ’z) 21—~ J;
I vp r t 1/t I T t,212
e MZYAVAN(ZY*)ds 4+ = —— MNZY*) 2 d

(116)

and for F, noting the transformation we have made, we have the representation

Zh* T t,z T
E[exp{ e [TTMY) g, e / Bzt M) qo L 0 [T gt vzt as
t

1—~J, Ay _1—’y 5 A(Zﬁ’z) 21—~ J;
I vp r t 1/t L vy T t,212
T MZYAVAN(ZY3)ds 4+ = —— MNZV3)d
21_715 (S) (8)3 21_,)/ ) (8) S ?

(117)

5.2 2-hypergeometric model

The o — hypergeometric model is a recent model developed in [4] which "has been designed to
make up for the numerous flaws observed when implementing the Heston model (or any other
affine model)”. For instance, in the Heston model, when doing a statistical estimation of the
parameters one might not necessarily obtain 2k > a2 which is a required property for the
strict positivity of the process.

This model is given by the equation

dZs = (a — be*%) ds + 6 dW?, Z; = z, (118)
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where t € [0,T], z € R, b,6,a > 0 and a € R. The volatility of the stock is then given by e%.
In our formulation this will correspond to A(z) = § and B(z) = a — be®?.

Here we shall consider the 2 — hypergeometric model, i.e., the case @« = 2. One can question
whether this equation has an unique solution. We follow the approach found in [4] to prove
this.

Defining H(s) = [ e2%* du we have
OH 5, 1 OHY\
E =€ s 5 log (85) = ZS (119)

Therefore writing the equation in terms of H(s) we get

%log <68Ij) =z+a(s—1t)—bH(s)+ 6(W; — W)

so multiplying everything by 2 and applying an exponential we have
OH obri(s) _ 2e+2a(s—1)+26(W7 ~Wy)
0s ’
therefore applying the integral between ¢ and s

i(e2bH(s) _ 1) _ 2 /S ega(rft)+26(W:7Wt*) dr,
t

2b

finally we obtain
S
2bH (s) = log (1 + 2be* / e2er—tF2(Wr =) dr> :
t
This way we may obtain Z using relations (119)

1 H 1 s * *
Zs = —log <66> =z+4a(s—t)+6(W; —-W])— B log <1 + 2b€2z/ 2a(r=)+20(Wr=Wy) dr) .
s t

This is indeed a solution to (118) as one may verify, and by locally Lipschitz coefficients one
concludes that it is the unique solution to (118).

Now lets prove prove that | [e% I e ds} < 00, for every C' > 0. We note that ftT e?%s ds =
H(T) as previously defined, therefore using the previous equality

1

T T 2b
/ e?%s ds = log (1 + 2be?? / e2a(r—t)+20(Wr=Wr) dr> ,
t ¢

SO
C

T L
6% ftT 6225 ds _ <1 + 2b622/ 62(1(T—t)+26(W:_Wt*) dr) " . (120)
t

We have that

Sup 626|Wr _Wt‘ Z 1’

re(t,T)

so taking the sup in the integral and using the above inequality we get

< <
¢ fT e?%s ds 28|Wr—Wp| v 2z r 2a(r—t) °
e2 Jt < | sup e="r T 1+ 2be e dr .
t

relt,T)
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Since e2Wr Wil is always positive the sup exzchanges with the exponent, and the other term

is some positive constant, so we have the inequality

T I s < poqup o5 W W (121)
reft,T)

for some D > 0. Given that W) — W}* is a martingale on [¢, T, and that E [e%sw:*wt*q < 00
(the density of the Brownian motion has decay of type e‘zz), we have by Jensen’s inequality

of conditional expectation that e 2 """ =Wl is a submartingale (since e 2 Il i convex). We can

then use Doob’s submartingale inequality on this process to obtain

E

sup e Wr-Wil| < 4R [6%\W;7W;\] < 00, (122)
re(t,T)

c (T 2
where we used Theorem 1.2.6 with p = 2. It then follows that E [67 Jo o(Zs)?ds| 00, for every
C > 0.

We synthesize all our previous results into the following Proposition.

Proposition 5.2.1. The stochastic differential equation
dZs = (a — be*%s)ds + 6 dW?,  Z; = 2, (123)

with given starting time t € [0,T], starting condition z € R, and parameters b > 0, §,a € R,
has an unique solution given by

1 $ * *
Zs=z+a(s—t)+o6(W; —W}) — 5 log <1 + 2[)622/ 2Tt +26(Wr —Wy) dr) . (124)
t

Also, Zs satisfies
E [e% Ji e ds] < 00,

for all C > 0.

We would now wish to prove that the Feynman-Kac representation for the function F in
this model is finite. If one assumes that A(z) = Xe™* for A > 0, m € R, looking at the
equation for F there is one term of the form 1-2-\(2)?F which in the Feynman-Kac formula

21—y
will correspond to the term

Given the previous Proposition we know that for m € [0, 1] this has finite expectation, but for
other m we’re unsure. For p(z) constant corresponds m = —1, so we don’t know if this term
as finite expectation and looking at the explicit formula for Z; the expectation seems to be
infinite.

We shall then follow the approach of Kraft and Liu discussed in the last section and consider
the case where the market price of risk, A(z), grows with volatility. We consider m €]0, 1].
The case m = 0 is trivial and given in example 3.3.1.

The Feynman-Kac representation for this model is

_ X t,z — 1 T t,z
F(t,z) =E exp {w(emZT —-1)— P <a + (5> / €% ds
t

md(1 — =) I—y\0 2
- . t Lo (125)
+bA— / e@tmZ gy TN / eQmZS’ZdS},
(=) Ji 21—~ t



If we assume p < 0, which is usually what’s observed in the market, we can see that this
integral is finite. This is because

VX gt v (a1 / T ozt
S Sy Ly d
eXp{WS(l—'Y)(e i 1—7<5+2> - ’

T T

~ P (2+m)z5* 1 v 2/ 2mzL* }

+bA—— / e ds+ ———\ e ds
6(L—7) Ji 21—~ t

A e (o 1N [T g 1 v o /T 271
< - - S os) [ e s+ LN (1422
_exp{ a1l — ) 17<5+2>/t (I+e )5—1—2177 t(+e )ds

and this last expression is integrable (we have used the property z” < 1+ 2 for all 8 € [0, 2]).
If F' is given this way we can write F' in the form of the expected value

A e - 1 T -
F(t,z) =E exp{mézlpiw(emz; _emZ)_A% <§+25)/t Y g

T T

S (rmyzt 1 7 32 / m 7 }

—1—6)\/ e ds+-——AX e ds ¢,
6= Ju 21—7v t

Now, to use the Verification theorem we would need first to prove that this representation is
smooth and that it solves the linear equation. This is the reverse implication of the Feynman-
Kac formula theorem that we have proved beginning of the thesis, which we don’t know to
be true for our conditions. If this is verified, then we need to prove the uniform integrability
condition of the Verification theorem. Noting that for this model the « function is given by

(126)

1 Xe(m—l)z nop aj 1

1—7 1 —~ 0z e#F(t,2) (127)

as,z) =
and that

~ 2l . S -
w(s, XPW%, Z0%) = % eXP{WT(T —t)+ )\/t (1) Z; a(u, Z5%) du

1 [ oy Tz
B / 274 alu, ZZ,Z)Z du +/ oZi a(u, Z57) de} (F(S, Z?Z))n7
" t

2
(128)
one approach is to prove that for all sequences of stopping times (6,,)nen

E {w(Gn,X;’f’z, Z;’j)q] <C, forsomeC >0, qg>1.

5.3 A numerical method for the Feynman-Kac representation

The Feynman-Kac representation suggests a Monte Carlo approximation scheme for the ap-
proximation of the value function. For a general reference for these methods we refer to [7].
Considering a general stochastic volatility model (A, B, ) we want to approximate the

expectation
zy* T t,z T
zt 1
Blow {7 [ A0 ay- 2 [ pe A a0 [ Az as
1—-vJ. Ay L—vJ A(ZE) 21—/,
1 T 1 T
topis | AEAAE ) ds g [ N2 s |
21=9J 21—7vJ,

(129)
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where \(z) = B (Ze)z_r and Zﬁ’z is the solution of the stochastic differential equation
Az = B(Z%)ds + A(ZY%) dW,,  Z)* =2

where (t,2) € [0,7] x R and W is some Brownian motion. This is the Feynman-Kac represen-
tation for F, solution of equation (108).

Usually the functions A, B, A take some exponential form, as was the case of the models
considered here, so simulating the above stochastic differential equation directly through an

doZ*

Euler method may be unwise. Instead we propose we simulate the process Vi =e where

dp € R\{0}. Applying the It6 formula formula we get the equation for yh®

1 2
dyt? = (dO}{j»ZB (dlog(Yst’Z)> + - d3YEA ( i log(Ytz)> ) ds+doY* A ( i 1og(Y“)) dWs,
0

(130)
Since our equations are homogeneous in time, i.e., B and A don’t depend on the time variable,
simulating Y2* in [t,T] is the same as simulating Y% in [0,T — t], so we only need to simulate
the process Yo% in [0, T7.
Fix a starting value z € R and a discretization of time 0 =tg < t; < --- <ty =T, where
we suppose t; —t;—1 = h for some h > 0, ¢ = 1,..., N. We simulate the process Yi® by an
Euler method. Take y = e%?# and consider the scheme

Yy =y
N N N ~ 2 N ~
4, = (donB (& 108(V)) + 4 3 V7 A (£ 10g(V)) ) hot do¥YA (i 10g(V)) VRN 41,
(131)
Here N;, i =1,..., N, are independent random variables with normal distribution, mean 0 and

variance 1. Using this method, the random variable Yy is an approximated simulation of YO’Z

Finally we need to approximate the integrals, for example the 1ntegral ft ZL* )2 ds.
Consider some continuous function f € C(R). Using a right endpoint approxlmatlon of the
integral we have for the starting value t =0

T 0,z T 1 0,z al 1 0,z al 1 Y
| raeas= | f(dolog(Y )) dszh%}f(dolog(n ))%h2f<dolog<Yi >).

On the other hand, noting that the random variables Ytil Y;ti’l - Y;]z, , are also approxi-
mately simulated by }A/Oy, Yly, ceey }7]{’,_ ;» since the stochastic differential equation is homogeneous

as already noted, we also have

T T N—
) f(Zt2) ds = /t f <d0 log(Yi?) > ds ~ hZf <log V%) ) ~ hzl <log Yy)>

Given all these observations this suggests the followmg method.

1. Discretize the time variable by taking 0 =t < t; < ---t§y =T, such that t; —¢t,_1 = h
for some h > 0, foralli=1,...,N.

2. Discretize the space variable by some values 0 < yop < y1 < -+ < yps. We approximate
F in the points F(ti,%log(yj)), foralli=0,...,N—1,57=0,...,M.

3. Choose a value L € N which corresponds to the number of simulations of the paths. Then
fori=1,...,Land j=0,..., M calculate recursively

f/(]jJJ = Yj;
Vi = (do¥7'B (£ 10a(V7")) + L d3 ¥4 (£ 1og(171)) ) 1
Sl S i,
+ V7' A (5 108(Y7)) VAN,
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fori=0,...,N—1,where N/' 1 =1,...,L,i=1,...,N,j=0,..., M, are independent
random variables with normal distribution, mean 0 and variance 1, we need to simulate.

4. Fori=0,1,...,N—1and j=0,..., M do the following

N—i
(a) For I =1,...,L calculate the sums S}/ = h Z fn(f/k]’l) for n = 1,2, 3,4 where
k=1

1 2
o 5il) = (5 tox))
0
These are approximations of the time integrals in the Feynman-Kac representation.
(b) Calculate

1 0,1

L —log(Y" )
. 12 Vo [0 BN Ay VP i
Fi=1 exp(l— /10 ( )d?/— Cha
=1

v %log(yj) A(y) -7 (132)
Ly i Loy quig by ol
_775’7».7 - S»’] - S’v.] .
21—~ "2 +21—73 +21—74

Here we're supposing that the primitive A(y)/A(y) is easy to calculate so the above
integral is easy to calculate also. The above expression is an approximation of F' in
the point F'(t;, % log(y;))-

We note that the sums S5 are related by Shid — ghithi hfn(f/]{;l_z) so one can speed up
the computations using this relation.

5.4 Numerical simulations

Since from section 4 we have an explicit solution, we can apply this approach there and compare
the results to see if this method is working. For this we consider the case v = 2, so the Heston
model considered by Liu [15].

2747 2747

In this case e is a CIR process, so it makes sense to take dg = 2. For YiF=e

have the equation

we

dY}* = k(0 — Y} #) ds + 6\ Y dW,

which we can discretize using the Euler method. Also the functions fi, fo, f3, f4 are given by
1 A RA 1 — 1 - ~2
fily) = 5260 = 6°)5 — <y, foly) = 500, fs(y) = —50N  faly) =Xy
2 ) 0 2 2
Since the error of the Euler method is, in general, of weak order 1/N and since the error of the
Monte Carlo method is of order 1/v/L we can consider L = N2, so that the error is of order
1/N. B
In figure 1 we take parameters § = 0.4, v=0.3, § =0.1, k=03, A=04, p=-05, T =
1, N =50, L = 2500 and approximate in an uniform interval of y € [0, 1], with M = 20.
We notice that the stationary point, 6, is 0.4 so it makes sense to consider y € [0,1]. In the
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next figures the red line is the explicit solution found in section 4, and the points are the
approximations obtained with the proposed method.

1.015
|

F(0,1/2 log(y))

1.005

Figure 1: Approximation of F(0,1/2log(y)) in the Heston model, v = 0.3 and N = 50.

Next we consider N = 100 and L = 10000 (the other parameters are the same). We present
the results in figure 2.

F(0,1/2 log(y))
1.015
|

1.005

02 04 06 08 1.0

Figure 2: Approximation of F'(0,1/2log(y)) in the Heston model, v = 0.3 and N = 100.

We observe that the error is smaller for values of ¢ closer to T', so for illustrative purposes
we present the estimatives for ¢ = 0 since these are ones with highest error.
We measure the RMS error, given by

1 < 1 2
3 2 (Fs = PO 10x) )
j=1

For N = 50 we obtained an error of 0.0010729 and for N = 100 we have obtained an error of
0.0004636. We observe that in the second case the order of the error is less then in the first
one.

Lets now consider a different value of «. Taking into account the Monte Carlo expression
(132) for the approximation of F', we see that every term is multiplied by the constant % As
~v goes to 1, % goes to infinity, as such we expect the error in the approximation of F' to grow
for higher values of v. Also as v goes to 1 we approach a risk-neutral utility, and because the

45



risk asset has a higher return then the non-risk asset, the optimal strategy will be to short the
non-risk asset as much as possible, making the value function go to infinity, as such we expect

higher values for F' with higher values of ~.
Consider now v = 0.9 and the same parameters. Take N = 50 and L = 2500. We present

the results in figure 3.

F(0,1/2 log(y))
15

Figure 3: Approximation of F(0,1/2log(y)) in the Heston model, v = 0.9 and N = 50.

Now consider N = 100 and L = 10000 (the other parameters are the same). We present
the results in figure 4.

F(0,1/2 log(y))
15 25

Figure 4: Approximation of F'(0,1/2log(y)) in the Heston model, v = 0.9 and N = 100.

The RMS here, is of 0.067 for N = 50 and L = 2500, and of 0.029 for N = 100 and
L =10000. Comparing with the error in the case of v = 0.3, we have a different order of error,
which is explained by the effect of the value of v on F', as noted earlier.

Now lets apply thi§ method on the 2-hypergeometric model. For this we take dy = 1. The
Zb*

equation for Y% = %" is given by

1
dy;* = <<a + 262> Yir—b (Yst’z)3> ds + 6Y* AW,
and we may discretize using the Euler method. As for the functions f1, fa, f3, f4 we have
X m X 24+m , m 32 2m
fily) = amy™ —bsy™™, foly) =0xmy™,  fa(y) =0, faly) =Xy™.
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We discretize now the interval y € [0, 2] by taking 0 = yo < y1,- - ,ym = 2, such that y; 11 —y;
is constant. We approximate the function F'in the points F'(¢;,log(y;)) using the above method.
For the parameters m =1, T =1, a=b=10.3,y=0.3,5 = 0.1, A\ = 0.3, p = —0.5, N = 100
and M = 20 we have obtained an approximation with L = 10000 simulations illustrated in the
following figure.

1.05
1.04
1.03
1.02

1.01

Figure 5: Approximation of F'(t,log(y)) in the 2-hypergeometric model, v = 0.3
This seems to make sense with our model. Looking at the candidate for the value function

w(t,x,z) = gew(T_t)F(t,:U,z)"
8l

we see that F' acts as an extra value we get by also investing in the risk asset. For F' = 1 we get
the return of investing only on the non-risk asset and for higher values of F' will correspond that
extra value. In our model we have higher returns with higher volatility, and for low volatility
the risk asset approaches the non-risk asset, so for low volatility, F', should be close to 1 and
for high volatility we expect a higher value of F.

As already noted, as v goes to 1, the error and values of F' should increase. Taking v = 0.9
(the other parameters remaining the same) we have obtained an approximation of F illustrated
in the following figure.
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20

Figure 6: Approximation of F(¢,log(y)) in the 2-hypergeometric model, v = 0.9
As we can see the maximum value is now 20, while in the previous case it is 1.06, so the

values of I' have increased as predicted. We should also expect a higher order of error for this
case.
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6 Concluding Remarks and Future Work

For the portfolio optimization problem, and when considering unbounded utilities, as is the case
of the power utilities, there is no guarantee that the value function will be finite, and there can
be portfolios that generate an infinite payoff, making the problem degenerate and impossible
to solve using the HJB equations. This indeed seems to happen in many cases of stochastic
volatility models. For the model considered in section 4, Korn and Kraft in [12] prove that if
the condition (85) is not satisfied in the case ¥ = 2, the problem has portfolios with infinite
payoff. Also if we approach the HJB equations though a Feynman-Kac representation there
are many instances where the expected value seems to be infinite.

Considering some utility function we want to use, one solution could be to transform this
function to be constant after some very high value, making it bounded, and so making the value
function bounded as well. In a way, since there are high values for the wealth process that can
be nonsensical, having more wealth then that may not have more wutility, so this seems like a
realistic approach. If one checks our definition of utilities, one sees that we have tried to include
these transformations, by allowing the derivative and second derivative of the utility function
to be 0, where usually in the literature one finds strict inequalities (one needs an interpolation
to keep the smoothness of the utility function). In this case, if one can find a bounded function
that solves the HJB equation, this function satisfies automatically the uniform integrability
condition, and so it is the value function.

Another issue with the way we have formulated the portfolio control problem, is that we
have allowed for the portfolio to take any values in R, effectively allowing for unlimited short
sales, which can be unrealistic. Bounding the values that the portfolio can take, one may then
be able to prove that the value function is finite. Still by doing this, the value function might
not be smooth, and so we can’t solve the problem through the strategies discussed here. On
the other hand, it might be possible to solve the problem using viscosity solutions (see [3, 22]).

Numerical methods for general utilities seem to be scarce in the stochastic volatility portfolio
problem, when optimizing utility from terminal wealth. The best one, as far as we know, seems
to be presented in [5], where the authors develop a numerical approximation scheme using
asymptotic methods. Yet, as we have noted, the problem can be not well posed, in the sense
that the value function is infinite, and in this case this approach will not work, so one has to
be careful as to the model one considers. Also the authors only consider the case when the
parameters are either large or small (slowly varying and fast varying stochastic volatility) and
we are unsure if this always applies.

In future work we would like to be able to approximate the optimal control. Continuing
the work of section 5.3, and using the same notations, take points 0 = tg <t; < --- <ty =T
and zp < 21 < --- < z) and suppose we have an approximation for F' in the points (¢;, z;), for
some general stochastic volatility model (A, B, u1). Since the function « that determines the
optimal controls is given by

plz) —r  mpA(z) 1 (LF( 2)
(1—7)e2s (1 —n)e* F(t,z) 9z 7

alt,z) =

to approximate the optimal control we need the derivative of F' in z. We can use a finite
difference to give an approximation of the derivative of the function F, i.e., if we have a
discretization of points given by zgp < 21 < -+ < zpy we can approximate the derivative of F'
in the points (¢;,2;), i =0,1,...,N j=0,...,M —1, by
OF F(ti,zig1) — F(ts, z;
87(751',2]‘) ~ ( i ]+1) ( { ]).
z

i1 T %

where F(ti, z;) correspond to our approximation of F' in these points. We can therefore give
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an estimative for a(t;, z;) by

p(z) —r | npAlz) 1 F(tizi) — Flti,z)
(1 —me* (1 —7)e* F(t;, z) Zj+1 = Zj

Q (ti, Zj) ~ .
Here we have used a forward difference, but we can also use a backward or central difference.
However this method may not give a good approximation, due to accumulation of errors and
well known instabilities of finite difference methods.

To overcome these difficulties, we can apply the Malliavin Calculus and write %—f as an
expectation of a stochastic functional, and then find an approximation using a Monte Carlo
method. This stochastic representation may also be useful to establish the Verification theorem.
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